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Question Number : 1 Question Id : 4058592262 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate idiom to fill in the blank :

On arrival of the police the agitatiors ran
Options :

4058597531. kith and kin

4058597532, helter skelter

4058597533. loaves and fish

4058597534, rank and file

Question Number : 1 Question Id : 4058592262 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Online
Mandatory
33

33

50

Yes

0

1
405859157
Yes

null



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate idiom to fill in the blank :

On arrival of the police the agitatiors ran
Options :

4058597531, kith and kin

4058597532. helter skelter

4058597533. loaves and fish

4058597534 rank and file

Question Number : 2 Question Id : 4058592263 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Correct the given sentence :

He had rather starved than beg.

Options :

4058597535, He had rather to starve than beg.
4058597536, He had rather starve than beg.

4058597537, He has rather starved than begged.

4058597538, He had rather starved than begged.

Question Number : 2 Question Id : 4058592263 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Correct the given sentence :

He had rather starved than beg.
Options :

4058597535, He had rather to starve than beg.

4058597536, He had rather starve than beg.

4058597537, He has rather starved than begged.

4058597538, He had rather starved than begged.

Question Number : 3 Question Id : 4058592264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Correct the given sentence -

Either the teacher or the students have left his classroom unlocked.

Options:

4058597539. Either the teacher or the students has left his classroom unlocked.
4058597540. Either the teacher or the students have left his classroom unlocked.

4058597541. Either the teacher or the students have left their classroom unlocked.

4058597542. Either the teacher or the students has left their elassroom unlocked.



Question Number : 3 Question Id : 4058592264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Correct the given sentence -

Either the teacher or the students have left his classroom unlocked.

Options :

4058597539. Either the teacher or the students has left his classroom unlocked.

4058597540. Either the teacher or the students have left his classroom unlocked.

4058597541. Either the teacher or the students have left their classroom unlocked.

4058597542. Either the teacher or the students has left their elassroom unlocked.

Question Number : 4 Question Id : 4058592265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

INTERVENTION
Options :

4058597543. illterceptiﬁﬂ

4058597544, interruption

4058597545, mediation

4058597546, meddling



Question Number : 4 Question Id : 4058592265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

INTERVENTION
Options :

4058597543. mterc epti@n

4058597544, interruption

4058597545, mediation

4058597546, meddling

Question Number : 5 Question Id : 4058592266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

INSOLVENT
Options :

4058597547, flourishing
4058597548, bankrupt

4058597549. soluble

4058597550, opprobrious



Question Number : 5 Question Id : 4058592266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

INSOLVENT
Options :

4058597547 flourishing

4058597548, bankrupt

4058597549. soluble

4058597550, opprobrious

Question Number : 6 Question Id : 4058592267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

LAUNCH
Options:

4058597551, review

4058597552, begin

4058597553, Propel



4058597554, force

Question Number : 6 Question Id : 4058592267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

LAUNCH
Options :

4058597551, review

4058597552, begin

4058597553, propel

4058597554, force

Question Number : 7 Question Id : 4058592268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the underlined expression :

She works in an office with no work. but high pay.

Options :

4058597555, honorary

4058597556. sinecure

4058597557, ex-officio



4058597558, reticent

Question Number : 7 Question Id : 4058592268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the underlined expression :

She works in an office with no work. but high pay.

Options :

4058597555, honorary

4058597556. sinecure

4058597557, ex-officio

4058597558. reticent

Question Number : 8 Question Id : 4058592269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

Passing through the gate without permission.
Options :

4058597559. abscond

4058597560, gatecrash



4058597561, bypass

4058597562, resspass

Question Number : 8 Question Id : 4058592269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

Passing through the gate without permission.
Options:

4058597559. abscond

4058597560, gatecrash

4058597561, bypass

4058597562, resspass

Question Number : 9 Question Id : 4058592270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

Constant etfort to achieve something,

Options :

4058597563, patience



4058597564, Vigour

4058597565, hardship

4058597566, Perscveramncc

Question Number : 9 Question Id : 4058592270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

Constant etfort to achieve something.

Options :

4058597563, Patience

4058597564, Vigour

4058597565, hardship

4058597566, Perscverallce

Question Number : 10 Question Id : 4058592271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks :

The of glory lead but to the

Options:

4058597567, Ways. frustration



4058597568, Paths. grave

40585975609, acts. pride

4058597570, achievements. suffering

Question Number : 10 Question Id : 4058592271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks -

The of glory lead but to the

Options :

4058597567, Ways. frustration

4058597568, Paths. grave

40585975609, acts. pride

4058597570, achievements. suffering

Question Number : 11 Question Id : 4058592272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank :

Last Monday a bad day for me as I the whole of it in hospital

bed.



Options :

4058597571, Was. had spend

4058597572, had been. was spending

4058597573, Was. spent

4058597574, Were. 5p et

Question Number : 11 Question Id : 4058592272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank :

Last Monday a bad day for me as I the whole of it in hogpital

bed.
Options :

4058597571, Was. had spend

4058597572, had been, was spending

4058597573, Was. spent

4058597574, wWere, sp ent

Question Number : 12 Question Id : 4058592273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank :

Had Savita worked hard, she have passed the examination.
Options :

4058597575. will

4058597576. would

4058597577. shall

4058597578. should

Question Number : 12 Question Id : 4058592273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank :

Had Savita worked hard, she have passed the examination.

Options :

4058597575. will

4058597576. would

4058597577. shall

4058597578. should

Question Number : 13 Question Id : 4058592274 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25
Fill the in blank :

you, please, stop making noise?
Options :

4058597579. must

4058597580. need

4058597581, shall

4058597582 will

Question Number : 13 Question Id : 4058592274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill the in blank :

you, please, stop making noise?

Options :

4058597579. must

4058597580. need

4058597581, shall

4058597582 will

Question Number : 14 Question Id : 4058592275 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank :

Bhoomu stamps since childhood.

Options :

4058597583, Was collecting

4058597584, has been collecting

4058597585, Were collecting

4058597586, have had been collecting

Question Number : 14 Question Id : 4058592275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank :

Bhoomi stamps since childhood.

Options :

4058597583, Was collecting

4058597584, has been collecting

4058597585, Were collecting

4058597586, have had been collecting



Question Number : 15 Question Id : 4058592276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank :

Half of the apples ripe.
Options :

4058597587. 1s

4058597588. are

4058597589. has

4058597590. have

Question Number : 15 Question Id : 4058592276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank :

Half of the apples ripe.
Options:

4058597587. 1s

4058597588. are

4058597589. has

4058597590. have



Question Number : 16 Question Id : 4058592277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :
PUNGENCY
Options :

4058597591, VAPIDITY

4058597592. JAM

4058597593. CRUSE

4058597594, PSORA

Question Number : 16 Question Id : 4058592277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :
PUNGENCY

Options:

4058597591. VAPIDITY

4058597592, JAM

4058597593. CRUSE

4058597594, PSORA



Question Number : 17 Question Id : 4058592278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :

'"DECIMATE'
Options :

4058597595. SCULL

4058597596. WALLOW

4058597597. CONNUBIAL

4058597598. UNITY

Question Number : 17 Question Id : 4058592278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :

'DECIMATE'

Options:

4058597595. SCULL
4058597596. WALLOW

4058597597. CONNUBIAL

4058597598. UNITY



Question Number : 18 Question Id : 4058592279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :

PARSIMONY"
Options :

4058597599. LARGESS

4058597600. GERMINAL

4058597601. JOCULAR

4058597602. LIBRETTO

Question Number : 18 Question Id : 4058592279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :

PARSIMONY"

Options:

4058597599. LARGESS
4058597600. GERMINAL

4058597601. JOCULAR

4058597602. LIBRETTO



Question Number : 19 Question Id : 4058592280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

"VARIEGATION'
Options :

4058597603. DIVERSITY

4058597604, DENSITY

4058597605. ATOMISE

4058597606. INSIPID

Question Number : 19 Question Id : 4058592280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

"VARIEGATION'
Options:

4058597603. DIVERSITY
4058597604, DENSITY

4058597605. ATOMISE

4058597606. INSIPID



Question Number : 20 Question Id : 4058592281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

'TAWDRY"
Options :

4058597607. GIMCRACK

4058597608. LACERATE

4058597609. SWAY

4058597610. LEVY

Question Number : 20 Question Id : 4058592281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

'TAWDRY"

Options:

4058597607. GIMCRACK
4058597608. LACERATE

4058597609. SWAY

4058597610. LEVY



Question Number : 21 Question Id : 4058592282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

MOGUL'
Options :

4058597611. MONACHISM

4058597612, BIGWIG

4058597613. SMART

4058597614, FASHION

Question Number : 21 Question Id : 4058592282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

"MOGUL'

Options:

4058597611. MONACHISM
4058597612, BIGWIG

4058597613, SMART

4058597614. FASHION



Question Number : 22 Question Id : 4058592283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence :

My friend is so rich that he is having six houses in Mumbai and four in Pune.

A B iz D
Options:

4058597615. A

4058597616. B

4058597617. C

4058597618. D

Question Number : 22 Question Id : 4058592283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence :

My friend is so rich that he is having six houses in Mumbai and four in Pune.

A B = D

Options :

4058597615. A

4058597616. B

4058597617. C

4058597618. D



Question Number : 23 Question Id : 4058592284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence :

One of the most widely spread bad habit is the use of tobacco.

A B £z D
Options :

4058597619. A

4058597620. B

4058597621. C

4058597622. D

Question Number : 23 Question Id : 4058592284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence :

One of the most widely spread bad habit is the use of tobacco.

A B £ D
Options :

4058597619. A

4058597620. B



4058597621. C

4058597622. D

Question Number : 24 Question Id : 4058592285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence :

No method of making other people agree to your view point is as effective as this
method.

A B G D
Options:

4058597623. A

4058597624. B

4058597625. C

4058597626. D

Question Number : 24 Question Id : 4058592285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence :

No method of making other people agree to your view point 1s as effective as this
method.

A B C D
Options :



4058597623. A

4058597624. B

4058597625. C

4058597626. D

Question Number : 25 Question Id : 4058592286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate idiom to fill in the blank :

He mvited in the marriage party of his younger brother.

Options :

4058597627. all in all

4058597628, alpha and omega

4058597629, all and sundry

4058597630. beck and call

Question Number : 25 Question Id : 4058592286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate idiom to fill in the blank :

He mvited in the marriage party of his younger brother.



Options :

4058597627. all in all

4058597628, alpha and omega

4058597629, all and sundry

4058597630. beck and call

Question Number : 26 Question Id : 4058592287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option from the following :

'To check by Jowl'
Options:

4058597631, to be very near to each other.

4058597632, to aspire for impossible thing.

4058597633, to make minor changes.

4058597634, to be kept waiting.

Question Number : 26 Question Id : 4058592287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Choose the most appropriate option from the following :

'To check by Jow!'
Options :

4058597631, to be very near to each other.

4058597632, to aspire for impossible thing.

4058597633, to make minor changes.

4058597634, to be kept waiting.

Question Number : 27 Question Id : 4058592288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the following idiomatic expression :

The problem of corruption has been hanging fire for the last ten years.
Options :

4058597635. to remain unsolved.

4058597636, to make all possible efforts.

4058597637. to create hindrance.

4058597638, to have no strength and support.

Question Number : 27 Question Id : 4058592288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the following idiomatic expression :

The problem of corruption has been hanging fire for the last ten years.
Options :

4058597635. to remain unsolved.

4058597636, to make all possible etforts.

4058597637. to create hindrance.

4058597638, to have no strength and support.

Question Number : 28 Question Id : 4058592289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :

4058597639. MOMENTOUS
4058597640. MOMENTEOUS

4058597641. MOMENTIOUS

4058597642. MOMENTIEOLS

Question Number : 28 Question Id : 4058592289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :

4058597639. MOMENTOUS

4058597640. MOMENTEOUS

4058597641. MOMENTIOUS

4058597642. MOMENTIEOUS

Question Number : 29 Question Id : 4058592290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options:

4058597643. BEATIFICATION

4058597644, BEAUTIFICATION

4058597645. BEAUTIFASCION

4058597646. BEATIFICASCION

Question Number : 29 Question Id : 4058592290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :



Options :

4058597643. BEATIFICATION

4058597644, BEAUTIFICATION

4058597645. BEAUTIFASCION

4058597646. BEATIFICASCION

Question Number : 30 Question Id : 4058592291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :
4058597647. TOMPOOLARY

4058597648. TOMFOOLARY

4058597649. TOMFOOLERY

4058597650. TOMPOOLERY

Question Number : 30 Question Id : 4058592291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :

4058597647. TOMPOOLARY



4058597648. TOMFOOLARY

4058597649. TOMFOOLERY

4058597650. TOMPOOLERY

Sub-Section Number : 2
Sub-Section Id : 405859158
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592292 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (31 to 38)

Question Label : Comprehension



Read the given passage and answer the questions that follow -
What i3 a Plan?

A plan gpells out how the resources of a nation should be put to use. It should have
some general goals as well as specific objectives which are to be achieved within a
specified period of time: 1 India plans were of five years duration and were called
tive year plans (we borrowed this from the former Soviet Union. the pioneer in
national planning). Our plan documents upto the year 2017 not only specify the
objectives to be attained in the five years of a plan but also what is to be achieved
over a period of twenty years. This long-term plan is called 'perspective plan'. The
tive year plans were supposed to provide the basis for the perspective plan.

It will be unrealistic to expect all the goals of a plan to be given equal importance
in all the plans. In fact the goals may actually be in conflict. For example. the goal
of introducing modern technology may be in conflict with the goal of increasing
employment if the technology reduces the need for labour. The planners have to
balance the goals. a very difficult job indeed. We find different goals being
emphasised in different plans in India.

India's five year plans did not spell out how much of each and every good and
service 1s to be produced. This 1s neither possible nor necessary (the former Soviet
Union tried to do this and failed). It 1s enough 1f the plan 1s specific about the
sectors where it plays a commanding role. for instance power, generation and
irrigation. while leaving the rest to the market.

Sub questions

Question Number : 31 Question Id : 4058592293 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

What 1s the duration of a plan?
Options :

4058597651, 5 years
4058597652, a period

4058597653, 20 years

4058597654, upto 2017



Question Number : 32 Question Id : 4058592294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What 1s the purpose of a plan?
Options :

4058597655, to figure out the resources of a nation.

4058597656, to figure out general goals and objectives.

4058597657, to put to use the resources with specific objectives only.

to put to use the resources keeping in mind goals and objectives to be achieved
4058597658, Within a stipulated amount of time.

Question Number : 33 Question Id : 4058592295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

How 1s Indian planning different from that of Soviet Union's?
Options:

4058597659, In India plans were of 5 years duration.
4058597660, Our plans were upto the year 2017.

4058597661, India has 'perspective plan' modelled after the five year plans.

4058597662, India has specific objectives to obtain



Question Number : 34 Question Id : 4058592296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements 1s true?
Options :

4058597663, All plans are given equal importance in India.

4058597664, LThe goals of a plan is to always smooth out any friction.

4058597665, Lhe planners plan the goals and manage the goals effectively.

4058597666, Different goals are being emphasised in different plans in India.

Question Number : 35 Question Id : 4058592297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is false :

Options :

4058597667, Lhe basis for the perspective plan is five year plans.

4058597668, Soviet Union spelt out the amount and extend of goods and service successtully.

4058597669, Lhe goals of a plan is to give equal importance to all the plans.

The goals of introducing modern technology may produce conflict with the
4058597670. employment plan.



Question Number : 36 Question Id : 4058592298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find form the passage the word similar in meaning to :

'up-to-date’

Options:

4058597671, Planning

4058597672. modern

4058597673, technology

4058597674, goals

Question Number : 37 Question Id : 4058592299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What 1s the objective of the given passage?

Options :

4058597675, 1o encourage a five year plan better.
4058597676, Lo put into perspective the long-term plan.

4058597677, 1o justify the failure of plan.

4058597678, 1o introduce the basies of national planing.



Question Number : 38 Question Id : 4058592300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the odd one out :

Options :

4058597679, national objectives

4058597680, modern technology

4058597681, commanding role

4058597682, Perspective plan

Question Id : 4058592292 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 38)

Question Label : Comprehension



Read the given passage and answer the questions that follow -
What i3 a Plan?

A plan gpells out how the resources of a nation should be put to use. It should have
some general goals as well as specific objectives which are to be achieved within a
specified period of time: 1 India plans were of five years duration and were called
tive year plans (we borrowed this from the former Soviet Union. the pioneer in
national planning). Our plan documents upto the year 2017 not only specify the
objectives to be attained in the five years of a plan but also what is to be achieved
over a period of twenty years. This long-term plan is called 'perspective plan'. The
tive year plans were supposed to provide the basis for the perspective plan.

It will be unrealistic to expect all the goals of a plan to be given equal importance
in all the plans. In fact the goals may actually be in conflict. For example. the goal
of introducing modern technology may be in conflict with the goal of increasing
employment if the technology reduces the need for labour. The planners have to
balance the goals. a very difficult job indeed. We find different goals being
emphasised in different plans in India.

India's five year plans did not spell out how much of each and every good and
service 1s to be produced. This 1s neither possible nor necessary (the former Soviet
Union tried to do this and failed). It 1s enough 1f the plan 1s specific about the
sectors where it plays a commanding role. for instance power, generation and
irrigation. while leaving the rest to the market.

Sub questions

Question Number : 31 Question Id : 4058592293 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

What 1s the duration of a plan?
Options :

4058597651, 5 years
4058597652, a period

4058597653, 20 years

4058597654, upto 2017



Question Number : 32 Question Id : 4058592294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What 1s the purpose of a plan?
Options :

4058597655, to figure out the resources of a nation.

4058597656, to figure out general goals and objectives.

4058597657, to put to use the resources with specific objectives only.

to put to use the resources keeping in mind goals and objectives to be achieved
4058597658, Within a stipulated amount of time.

Question Number : 33 Question Id : 4058592295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

How 1s Indian planning different from that of Soviet Union's?
Options:

4058597659, In India plans were of 5 years duration.
4058597660, Our plans were upto the year 2017.

4058597661, India has 'perspective plan' modelled after the five year plans.

4058597662, India has specific objectives to obtain



Question Number : 34 Question Id : 4058592296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements 1s true?
Options :

4058597663, All plans are given equal importance in India.

4058597664, LThe goals of a plan is to always smooth out any friction.

4058597665, Lhe planners plan the goals and manage the goals effectively.

4058597666, Different goals are being emphasised in different plans in India.

Question Number : 35 Question Id : 4058592297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is false :

Options :

4058597667, Lhe basis for the perspective plan is five year plans.

4058597668, Soviet Union spelt out the amount and extend of goods and service successtully.

4058597669, Lhe goals of a plan is to give equal importance to all the plans.

The goals of introducing modern technology may produce conflict with the
4058597670. employment plan.



Question Number : 36 Question Id : 4058592298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find form the passage the word similar in meaning to :

'up-to-date’

Options:

4058597671, Planning

4058597672. modern

4058597673, technology

4058597674, goals

Question Number : 37 Question Id : 4058592299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What 1s the objective of the given passage?

Options :

4058597675, 1o encourage a five year plan better.
4058597676, Lo put into perspective the long-term plan.

4058597677, 1o justify the failure of plan.

4058597678, 1o introduce the basies of national planing.



Question Number : 38 Question Id : 4058592300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the odd one out :

Options :

4058597679, national objectives

4058597680, modern technology

4058597681, commanding role

4058597682, Perspective plan

Sub-Section Number : 3
Sub-Section Id : 405859159
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 4058592301 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (39 to 44)

Question Label : Comprehension



Read the given passage and answer the questions that follow -

Historiang do not see tume just as a passing of hours. days or years -as a clock or a
calendar. Time also reflects changes in social and economic organisation. in the
persistence and transformation of ideas and beliefs. The study of time is made
somewhat easier by dividing the past into large segments - periods — that possess
shared characteristics.

In the middle of the nineteenth century, British historians divided the
history of India into three periods: "Hindu". "Muslim" and "British". This division
was based on the idea that the religion of rulers was the only important historical
change. and that there were no other significant developments — in the economy.
society or culture. Such a division also 1gnored the rich diversity of the
subcontinent.

Few historians follow this periodisation today. Most look to economic
and social factors to characterise the major elements of different moments of the
past.

Sub questions

Question Number : 39 Question Id : 4058592302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Historians see tune as

Options :

4058597683. a clock or a calendar.

4058597684. transformation of ideas and beliefs.

4058597685, large segments

4058597686, Periods that possess shared characteristics.

Question Number : 40 Question Id : 4058592303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



British historians divided the history of India into -
Options:

4058597687, Periods based on social and economic organisation.

4058597688, Periods based on religion of people.

4058597689, periods based on important historical changes.

4058597690, Periods based on religion of rulers.

Question Number : 41 Question Id : 4058592304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement -

The division made by the British historians
Options :

4058597691, Was based on shared characteristics of people.

4058597692, reflected changes in social and economic organisation.

4058597693, Was based on significant developments

4058597694, 1gnored the rich diversity of the subcontinent.

Question Number : 42 Question Id : 4058592305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Most historians today divide the history of India on the basis of -
Options:

4058597695, social and religious factors taken together.

4058597696, cconomic and social factors taken together.

4058597697, Hindu'. Muslim' and 'British' rulers.

4058597698, large segments of time.

Question Number : 43 Question Id : 4058592306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The meaning of the word 'persistence’ as per the context is -

Options :

4058597699, credulity

4058597700, disapprobation

4058597701, continuity

4058597702, disappearance

Question Number : 44 Question Id : 4058592307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The British historians carried out the division of history of India -



Options :

4058597703, around 1750 AD.

4058597704, around 1850 AD.

4058597705. around 1950 AD.

4058597706. around 1900 AD.

Question Id : 4058592301 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (39 to 44)

Question Label : Comprehension

Read the given passage and answer the questions that follow -

Historians do not see tume just as a passing of hours. days or years -as a clock or a
calendar. Time also reflects changes in social and economic organisation, in the
persistence and transformation of ideas and beliefs. The study of time 1s made
somewhat easier by dividing the past into large segments - periods — that possess
shared characteristics.

In the middle of the nineteenth century. British historians divided the
history of India into three periods: "Hindu". "Muslim" and "British”. This division
was based on the idea that the religion of rulers was the only important historical
change. and that there were no other significant developments — in the economy;,
society or culture. Such a division also ignored the rich diversity of the
subcontinent.

Few historians follow this periodisation today. Most look to economic
and social factors to characterise the major elements of different moments of the
past.

Sub questions

Question Number : 39 Question Id : 4058592302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Historians see time as

Options:

4058597683. a clock or a calendar.

4058597684. transformation of ideas and beliefs.

4058597685, large segments

4058597686, Periods that possess shared characteristics.

Question Number : 40 Question Id : 4058592303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

British historians divided the history of India into -
Options :

4058597687, Periods based on social and economic organisation.

4058597688, Periods based on religion of people.

4058597689, Periods based on important historical changes.

4058597690, Periods based on religion of rulers.

Question Number : 41 Question Id : 4058592304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Choose the correct statement -

The division made by the British historians
Options :

4058597691, Was based on shared characteristics of people.

4058597692, reflected changes in social and economic organisation.

4058597693, Was based on significant developments

4058597694, 1gnored the rich diversity of the subcontinent.

Question Number : 42 Question Id : 4058592305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Most historians today divide the history of India on the basis of -
Options :

4058597695, social and religious factors taken together.

4058597696, cconomic and social factors taken together.

4058597697, Hindu'. Muslim' and 'British' rulers.

4058597698, large segments of time.

Question Number : 43 Question Id : 4058592306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



The meaning of the word 'persistence’ as per the context 1s -

Options:

4058597699, credulity

4058597700, disapprobation

4058597701, continuity

4058597702, disappearance

Question Number : 44 Question Id : 4058592307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The British historians carried out the division of history of India -
Options :

4058597703, around 1750 AD.

4058597704, around 1850 AD.

4058597705. around 1950 AD.

4058597706. around 1900 AD.

Sub-Section Number : 4
Sub-Section Id : 405859160
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592308 Question Type : COMPREHENSION Sub Question Shuffling Allowed :



Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (45 to 50)

Question Label : Comprehension

Read the given passage and answer the questions that follow -

Recently I spent several hours sitting under a tree 1n my garden with the social
anthropologist William Ury. a Harward University professor who specialises in the
art of negotiation and wrote the best selling book. Getting to Yes. He captivated me
with his theory that tribalism protects people from their fear of rapid change. He
explained that the pillars of tribalism that humans rely on for security would
always counter any significant cultural or social change.

In this way, he said. change 1s never allowed to happen too fast. Technology. for
example 1s a pillar of society. Ury believes that every time technology moves in a
new or radical direction another pillar such as religion or nationalism will grow
stronger-in effect. the traditional and familiar will assume greater importance to
compensate for the new and untested. In this manner. human tribes avoid rapid
change that leaves people insecure and frightened.

But we have all heard that nothing 1s as permanent as change. Nothing 1s
guaranteed. Pithy expressions. to be sure, but no more than cliches. As Ury says.
"people don't live that way from day-to-day. On the contrary. they actively seck
certainty and stability. They want to know they will be safe.”

Even so we scare ourselves constantly with the idea of change. An IBM
CEO once said "We only restructure for a good reason. and if we haven't
restructured 1n a while, that's a good reason. We are scared that competitors
technology. and the consumer will put us out of business so we have to change all
the time just to stay alive. But if we asked our fathers and grandfathers, would they
have said that they lived in a period of little change? Structure may not have
changed much. It may just be the speed with which we do things."

Sub questions

Question Number : 45 Question Id : 4058592309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following views does the author fully support in the passage?
Options :

4058597707, Nothing is permanent as change.



4058597708, Change 1s always rapid.

4058597709, More money spent on innovation leads to more rapid change.

4058597710, Over decades structural changes have been mcremental.

Question Number : 46 Question Id : 4058592310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Any significant cultural or social change -
Options :

405859771 1. depends upon technological advancement.

4058597712, tends to move in the direction of permanence.

4058597713, 1s countered by the pillars of tribalism.

4058597714, 1s carried out for a good reason.

Question Number : 47 Question Id : 4058592311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
According to the IBM CEO -

Options:

4058597715, change 1s scary.

4058597716, the competitors will foree us to change.



405859771 7. our fathers and grandfathers lived in a period of little change.

4058597718, We have not changed the structure speedily.

Question Number : 48 Question Id : 4058592312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Anthropology 1s the study of

Options :

4058597719, art of negotiation.

4058597720, human origins, customs and beliefs.

4058597721, human congregations in a given time period.

4058597722, art of growing a garden.

Question Number : 49 Question Id : 4058592313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

According to Prof. William Ury -

Options :

4058597723, change happens too fast.

4058597724, the traditional and fimilar will assume greater importance.



4058597725, technology is a pillar of society.

4058597726, tribalism protects people from their fear of rapid change.

Question Number : 50 Question Id : 4058592314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The meaning of the word 'pithy" is -
Options:

4058597727, cxpressed in a clear. direct way.

4058597728, @ phrase or idea that has been used many times.

4058597729, an important idea.

4058597730, ambiguous and unclear idea.

Question Id : 4058592308 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (45 to 50)

Question Label : Comprehension



Read the given passage and answer the questions that follow -

Recently I spent several hours sitting under a tree in my garden with the social
anthropologist William Ury. a Harward University professor who specialises in the
art of negotiation and wrote the best selling book. Getting to Tes. He captivated me
with his theory that tribalism protects people from their fear of rapid change. He
explained that the pillars of tribalism that humans rely on for security would
always counter any significant cultural or social change.

In this way. he said. change is never allowed to happen too fast. Technology. for
example is a pillar of society. Ury believes that every time technology moves in a
new or radical direction another pillar such as religion or nationalism will grow
stronger-in effect. the traditional and familiar will assume greater importance to
compensate for the new and untested. In this manner. human tribes avoid rapid
change that leaves people insecure and frightened.

But we have all heard that nothing is as permanent as change. Nothing is
guaranteed. Pithy expressions. to be sure, but no more than cliches. As Ury says,
"people don't live that way from day-to-day. On the contrary. they actively seck
certamty and stability. They want to know they will be safe.”

Even so we scare ourselves constantly with the idea of change. An IBM
CEO once said "We only restructure for a good reason. and if we haven't
restructured in a while, that's a good reason. We are scared that competitors
technology. and the consumer will put us out of business so we have to change all
the time just to stay alive. But if we asked our fathers and grandfathers, would they
have said that they lived in a period of little change? Structure may not have
changed much. It may just be the speed with which we do things."

Sub questions

Question Number : 45 Question Id : 4058592309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
-

Which of the following views does the author fully support in the passage?
Options :

4058597707, Nothing is permanent as change.

4058597708, Change 1s always rapid.

4058597709, More money spent on innovation leads to more rapid change.



4058597710, Over decades structural changes have been meremental.

Question Number : 46 Question Id : 4058592310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Any significant cultural or social change -
Options :

405859771 1. depends upon technological advancement.

4058597712, tends to move in the direction of permanence.

4058597713, 1s countered by the pillars of tribalism.

4058597714, 1s carried out for a good reason.

Question Number : 47 Question Id : 4058592311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
According to the IBM CEO -

Options :

4058597715, change is scary.

4058597716, the competitors will force us to change.

405859771 7. our fathers and grandfathers lived in a period of little change.

4058597718, We have not changed the structure speedily.



Question Number : 48 Question Id : 4058592312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Anthropology is the study of

Options :

4058597719, art of negotiation.

4058597720, human origins, customs and beliefs.

4058597721, human congregations in a given time period.

4058597722, art of growing a garden.

Question Number : 49 Question Id : 4058592313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

According to Prof. William Ury -

Options :

4058597723, change happens too fast.

4058597724, the traditional and fimilar will assume greater importanee.

4058597725, technology is a pillar of society.

4058597726, tribalism protects people from their fear of rapid change.



Question Number : 50 Question Id : 4058592314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The meaning of the word "pithy” 1s -

Options :

4058597727, expressed in a clear. direct way.

4058597728, @ phrase or idea that has been used many times.

4058597729, an important 1dea.

4058597730, ambiguous and unclear idea.

Case Study
SectionId: 405859127
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 8
Number of Questions to be attempted : 8
Section Marks : 40
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1

Sub-Section Id : 405859161



Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 4058592315 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (51 to 55)

Question Label : Comprehension

Read the given passage and answer the questions that follow -

In what will be its second attempt at going public, One MobiKwik Systems — the
parent company of fintech firm MobiKwik — on Friday filed a fresh draft red
herring prospectus with Sebi to raise Rs. 700 crore through a fresh issue of shares.
The size of the proposed IPO is over 50% lower than the previous i1ssue which was
planned at Rs 1.900 crore. The [PO does not have an offer for sale component. In
2021. MobiKwik had attempted to get listed on the bourses but stalled its IPO
plans on the back of choppy markets and a dismal market debut by bigger peer
Paytm. The company said that it may undertake a pre-IPO placement worth up to
Rs 140 crore. MobiKwik will use the IPO proceeds to fund growth of its financial
services and payment services businesses and make investments in data and
technology tools like Al & ML. In an interview with co-founder and CEO Bipin
Preet Singh had said that the company's digital credit GMV (gross merchandise
value) has seen a multi-fold growth over the past few years.

Sub questions

Question Number : 51 Question Id : 4058592316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The amount of money MobiKwik plans to raise through 1ssue of shares 1s -
Options :
4058597731. Rs. 700 crores

4058597732. Es. 1900 crores

4058597733. Es. 140 crores



4058597734. 50% lower than 2021

Question Number : 52 Question Id : 4058592317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
MobiKwik stalled its first IPO plans because of

Options :

4058597735, uncertain markets

4058597736. violent markets

4058597737. dull markets

4058597738, Jerky markets

Question Number : 53 Question Id : 4058592318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
The money collected through IPO will be used by MobiKwik -

Options :
4058597739, to sustain the company.
4058597740, to raise its funds ahead of Paytm.

4058597741, to fund its growth i the market and mvest in data and technology tools.

to fund the growth of its financial services businesses and invest in data and
4058597742, technology tools.



Question Number : 54 Question Id : 4058592319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the following phrase -

'goods that are bought or sold'

Options :

4058597743, Prospectus

4058597744, issue

4058597745, bourses

4058597746. merchandise

Question Number : 55 Question Id : 4058592320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct synonym for the word 'dismal’ -
Options :

4058597747, Dromising

4058597748, thundering

4058597749, depressing

4058597750. considerable



Question Id : 4058592315 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (51 to 55)

Question Label : Comprehension

Read the given passage and answer the questions that follow -

In what will be its second attempt at going public, One MobiKwik Systems — the
parent company of fintech firm MobiKwik — on Friday filed a fresh draft red
herring prospectus with Sebi to raise Rs. 700 crore through a fresh issue of shares.
The size of the proposed IPO is over 50% lower than the previous issue which was
planned at Rs 1,900 crore. The [PO does not have an offer for sale component. In
2021. MobiKwik had attempted to get listed on the bourses but stalled its IPO
plans on the back of choppy markets and a dismal market debut by bigger peer
Paytm. The company said that it may undertake a pre-IPO placement worth up to
Rs 140 crore. MobiKwik will use the IPO proceeds to fund growth of its financial
services and payment services businesses and make investments in data and
technology tools like Al & ML. In an interview with co-founder and CEO Bipin
Preet Singh had said that the company's digital credit GMV (gross merchandise
value) has seen a multi-fold growth over the past few years.

Sub questions

Question Number : 51 Question Id : 4058592316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The amount of money MobiKwik plans to raise through issue of shares 1s -
Options :

4058597731. Rs. 700 crores

4058597732. Rs. 1900 crores

4058597733, Bs. 140 crores

4058597734, 50% lower than 2021



Question Number : 52 Question Id : 4058592317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
MobiKwik stalled its first IPO plans because of

Options :

4058597735. uncertain markets

4058597736. violent markets

4058597737. dull markets

4058597738, Jerky markets

Question Number : 53 Question Id : 4058592318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
The money collected through IPO will be used by MobiKwik -

Options :

4058597739, to sustain the company.

4058597740, to raise its funds ahead of Paytm.

4058597741 . to fund its growth n the market and mvest in data and technology tools.

to fund the growth of its financial services businesses and invest in data and
4058597742, technology tools.



Question Number : 54 Question Id : 4058592319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the following phrase -

'goods that are bought or sold'

Options:

4058597743, Prospectus

4058597744, issue

4058597745, bourses

4058597746. merchandise

Question Number : 55 Question Id : 4058592320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct synonym for the word "dismal' -
Options :

4058597747, Promising

4058597748, thundering

4058597749, depressing

4058597750. considerable



Sub-Section Number : 2

Sub-Section Id : 405859162
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 4058592321 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (56 to 60)

Question Label : Comprehension

Read the given passage and answer the questions that follow -

Allied Blenders & Distillers (ABD). the largest domestic liquor company, 1s set to
file for a Rs 2.000-crore IPo later this month at a valuation of nearly Rs
20.000crore. or $2.5 billion. The company has appointed ICICI Securities. Axis
Capital. Kotak Mahindra Capital and JM Financial to manage the public offer.

The IPO will be a combination of a fresh fund-raising by the company and
an offer for sale by some of its promoters, in a50:50ratio. sources said. It will use
Rs 1.000 crore to retire part of its debt and some amount to expand its business.
including launch of new brands. they added.

ABD. the makers of popular brands like Officer's Choice and Sterling
Reserve. had been planning for some years to go public. ABD 1s the biggest
homegrown alcohol company in India and third largest overall. behind global
players Diageo and Pernod Ricard. according to merchant bankers.

A text message sent to Kishore Chhabria. chairman and the main promoter
of ABD. did not elicit any reply till the time of going to press. Once listed. ABD
will be the first listing of a brewery &distiller in more than a decade. According to
BSE data, Globus Spirits was the last such company to go public in 2009,

ABD began its operations in 1988 with Officer's Choice being its flagship
brand. Currently it's the third-largest selling whisky in the world. In 2017. ABD
forayed into the premium segment with Sterling Reserve.

Sub questions

Question Number : 56 Question Id : 4058592322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



ABD 1s filing 1ts IPO for Rs. 2.000 crore -
Options:

4058597751 . to expand its business

4058597752, to retire part of its debt

4058597753, to payoit its debt and expand its business

4058597754, to foray into premium segment and compete with global players.

Question Number : 57 Question Id : 4058592323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Deduce from the passage-Officer's choice 1s as compared to Sterling
Reserve.

Options :

4058597755. Costlier

4058597756, Cheaper

4058597757. Dearer

4058597758, Equally priced

Question Number : 58 Question Id : 4058592324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The earliest company to file its IPO according to the passage 1s -



Options :

4058597759. Allied Blenders & Dastillers

4058597760, Diageo

4058597761. Pernod Ricard

4058597762, Globus Spirits

Question Number : 59 Question Id : 4058592325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the following group of words -

The most important product, service, building. ete. that an organisation owns or
produces'.

Options:

4058597763. domestic

4058597764. valuation

4058597765. brand

4058597766, flagship

Question Number : 60 Question Id : 4058592326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Choose the most appropriate word to fill in the blank -

I had to pay extra amount for a car number.
Options :

4058597767. domestic

4058597768 public

4058597769, Popular

4058597770, Premium

Question Id : 4058592321 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (56 to 60)

Question Label : Comprehension



Read the given passage and answer the questions that follow -

Allied Blenders & Distillers (ABD). the largest domestic liquor company. is get to
file for a Rs 2.000-crore IPo later this month at a valuation of nearly Rs
20.000crore, or $2.5 billion. The company has appomted ICICT Securities. Axis
Capital. Kotak Mahindra Capital and JM Finaneial to manage the public offer.

The IPO will be a combination of a fresh fund-raising by the company and
an offer for sale by some of its promoters. in a50:50ratio. sources said. It will use
Rs 1.000 crore to retire part of its debt and some amount to expand its business.
including launch of new brands. they added.

ABD, the makers of popular brands like Officer's Choice and Sterling
Reserve. had been planning for some years to go public. ABD 1s the biggest
homegrown alcohol company in India and third largest overall. behind global
players Diageo and Pernod Ricard. according to merchant bankers.

A text message sent to Kishore Chhabria. chairman and the main promoter
of ABD., did not elicit any reply till the time of going to press. Once listed. ABD
will be the first listing of a brewery &distiller in more than a decade. According to
BSE data, Globus Spirits was the last such company to go public in 2009,

ABD began its operations in 1988 with Officer's Choice being its flagship
brand. Currently it's the third-largest selling whisky in the world. In 2017, ABD
forayed into the premium segment with Sterling Reserve.

Sub questions

Question Number : 56 Question Id : 4058592322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
ABD is filing its IPO for Rs. 2.000 crore -

Options :
4058597751, to expand its business
4058597752, to retire part of its debt

4058597753, to payoff its debt and expand its business

4058597754, to foray into premium segment and compete with global players.



Question Number : 57 Question Id : 4058592323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Deduce from the passage-Officer's choice 1s as compared to Sterling
Reserve.

Options :

4058597755, Costlier

4058597756, Cheaper

4058597757. Dearer

4058597758, Equally priced

Question Number : 58 Question Id : 4058592324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The earliest company to file its IPO according to the passage 1s -
Options :

4058597759. Allied Blenders & Dastillers

4058597760, Diageo

4058597761. Pernod Ricard

4058597762, Globus Spirits



Question Number : 59 Question Id : 4058592325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the following group of words -

The most important product, service, building. etc. that an organisation owns or
produces'.

Options :

4058597763. domestic

4058597764, valuation

4058597765. brand

4058597766, flagship

Question Number : 60 Question Id : 4058592326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate word to fill in the blank -

I had to pay extra amount for a car number.
Options :

4058597767. domestic

4058597768, Public

4058597769, Popular

4058597770, Premium



Sub-Section Number : 3

Sub-Section Id : 405859163
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 4058592327 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension

Read the given passage and answer the question that follow -

German luxury carmaker Audi has staged a strong comeback in the Indian market.
registering sales of 7.931 units i 2023. The company's volumes had plunged
t01.639 units in 2020.

For Audi, which suffered a major reversal after exiting the diesel segment in 2020
and moving to only a petrol & electric power train strategy the growth in 2023 was
89% over the 4,187 units it had sold i 2022. The surge came even as its close
rivals and compatriots Mercedes Benz and BMW have strong diesel line-ups in
their portfolios.

For Audi, the numbers have been on an upswing recently. though its overall sales
are still some distance away from the peak of 11.192 units 1t had achieved in 2011.

Balbir Singh Dhillon. head of Audi in India. told that the company has been
rapidly expanding its offerings in India as it opts for more locally assembled cars
to keep the retail pricing and ownership costs under check. "Our decision to move
out of diesels was also absolutely correct as the contribution of the fuel has been
coming down with petrol now becoming the dominant powertrain on a share of
05%." he said. adding that "Audi now leads in the petrol segment” over its rivals.

Audi 1s part of German giant Volkswagen's ecosystem that also sells brands such as
Skoda. VW. Lamborghini, and Porsche in India. Dhillon said demand for luxury
cars remains strong. and is likely to see record numbers this year.

Sub questions

Question Number : 61 Question Id : 4058592328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



The difference in the Audi sales in the years 2023 and 2020 1s -
Options:

4058597771, approximately 5500 units

4058597772. less than 6000 units

4058597773. more than 6000 units

4058597774, 89% over 2022

Question Number : 62 Question Id : 4058592329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The total number of differences in the given sentence, from the passage are -

The surge came even when their close rivals and compatriots Mercedes-Benz and
BMW have strong petrol line-ups in their portfolio.

Options :

4058597775. 3

4058597776. 4

F

4058597777. 5

4058597778. 6

Question Number : 63 Question Id : 4058592330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Audi achieved the highest sale in India 1n -
Options:

4058597779. 2011

4058597780. 2020

4058597781, 2022

4058597782, 2023

Question Number : 64 Question Id : 4058592331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The parent company of 'Audi’ 1s -
Options :

4058597783. Mercedes-Benz

4058597784. BMV

4058597785, Volkswagen

4058597786. Audi India

Question Number : 65 Question Id : 4058592332 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as 'a person who is a citizen of the same
country as somebody else'.

Options :



4058597787. rival

4058597788, compatriot

4058597789. local

4058597790, glant

Question Id : 4058592327 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension

Read the given passage and answer the question that follow -

German luxury carmaker Audi has staged a strong comeback in the Indian market.
registering sales of 7.931 units n 2023. The company's volumes had plunged
t01.639 units 1n 2020.

For Audi, which suffered a major reversal after exiting the diesel segment in 2020
and moving to only a petrol & electric power train strategy the growth in 2023 was
89% over the 4,187 units it had sold in 2022. The surge came even as its close
rivals and compatriots Mercedes Benz and BMW have strong diesel line-ups in
their portfolios.

For Audi, the numbers have been on an upswing recently. though its overall sales
are still some distance away from the peak of 11.192 units 1t had achieved in 2011.

Balbir Singh Dhillon. head of Audi in India. told that the company has been
rapidly expanding its offerings in India as it opts for more locally assembled cars
to keep the retail pricing and ownership costs under check. "Our decision to move
out of diesels was also absolutely correct as the contribution of the fuel has been
coming down with petrol now becoming the dominant powertrain on a share of
65%." he said. adding that "Audi now leads in the petrol segment” over its rivals.

Audi 15 part of German giant Volkswagen's ecosystem that also sells brands such as
Skoda, VW. Lamborghini, and Porsche in India. Dhillon said demand for luxury
cars remains strong. and 1s likely to see record numbers this year.

Sub questions



Question Number : 61 Question Id : 4058592328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The difference in the Audi sales in the years 2023 and 2020 is -
Options :

4058597771, approximately 5500 units

4058597772. less than 6000 units

4058597773. more than 6000 units

4058597774. 89% over 2022

Question Number : 62 Question Id : 4058592329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The total number of differences in the given sentence, from the passage are -

The surge came even when their close rivals and compatriots Mercedes-Benz and
BMW have strong petrol line-ups in their portfolio.

Options :

4058597775. 3

4058597776. 4

F

4058597777. 5

4058597778. 6



Question Number : 63 Question Id : 4058592330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Audi achieved the highest sale in India in -
Options :

4058597779. 2011

4058597780. 2020

4058597781, 2022

4058597782, 2023

Question Number : 64 Question Id : 4058592331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The parent company of 'Audi’ is -
Options :

4058597783. Mercedes-Benz

4058597784. BMV

4058597785. Volkswagen

4058597786. Audi India

Question Number : 65 Question Id : 4058592332 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as 'a person who is a citizen of the same
country as somebody else'.

Options :

4058597787. rival

4058597788, compatriot

4058597789. local

4058597790, giant

Sub-Section Number : 4
Sub-Section Id : 405859164
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592333 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (66 to 70)

Question Label : Comprehension



Read the given passage and answer the questions that follow -

Adani Group stocks rallied up to 18% on Wednesday ahead of the Supreme Court's
judgment in the Adani-Sebi case. The SC didn't order any investigation by other
agencies or bodies like CBI in the case and declined to interfere m Sebi's
investigation.

At close of the day's session. all 10 Adani Group stocks were in the green with
Adani Energy Solutions (formerly Adani Transmission) leading the pack with a
12% gain. Group flagship Adani Enter prises closed 2.5% higher on the BSE.

The group’s total market cap also crossed the Rs 15 lakh-crore mark in
Wednesday's session. During the day's trade. the group companies added nearly Rs
64.000 crore to the conglomerate’s total market value to Rs 15.1 lakh crore. From
its all-time high total market cap of Rs 19.2 lakh crore on January 24, 2023 the day
US-based short seller Hindenburg had published 1ts damning report against the
group it 18 still down by Rs 4.1 lakh crore or about 21%. BSE data showed.

Nearly a year ago. Hindenburg had published a report that alleged serious
corporate malfeasance by Adani Group including cooking books of accounts.
round tripping of own funds to jack up stock prices using offshore entities and over
invoicing of import costs. Adani Group denied the allegations but by February 27,
the group's market cap had dropped by about 65% to Rs 6.8 lakh crore. Since then.
it has

been on a steady upward trajectory. at times helped by SC orders that came in its
favour and other regulatory moves.

Among the group's stocks. Adani Power 1s the biggest gainer since the Hindenburg
report last year. The stock has nearly doubled. with the com pany's market cap now
at Rs 2.1 lakh crore from Rs 1.1 lakh crore then. The biggest lag gard has been
Adani Total Gas, which has lost 72% of its market value from Rs 4.3 lakh crore on
January 24, 2023, 1t is at Rs 1.2 lakh crore The other top laggards are Adani
Transmission, down from Rs 3.1 lakh crore to Rs 1.3 lakh crore, and Adam
Enterprises. down from Rs 3.9 lakh crore to Rs 3.4 lakh crore.

Sub questions

Question Number : 66 Question Id : 4058592334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the incorrect statement -

Options :

4058597791, The Supreme Court declined to interfere in Sebi's investigation.



At the close of the day's session. not all of the 10 Adani group stocks were in the
4058597792, sreell.

The group's total market cap also crossed the Rs. 15-lakh-crore mark in
4058597793, Wednesday's session.

4058597794, Among the group's stocks. Adam Power 1s the biggest gainer.

Question Number : 67 Question Id : 4058592335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Adani group has had the all time high of -

Options :

4058597795. 15.1 lakh-crore

4058597796. 19.2 lakh-crore

4058597797. 43 lakh-crore

4058597798. 68 lakh-crore

Question Number : 68 Question Id : 4058592336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Hindenburg report alleged that Adani Group -

Options :

4058597799, Interfered in Sebi's investigation before Supreme Court's judgement.



4058597800, Crossed the Rs. 15 lakh-crore mark in Wednesday's session.

4058597801, had cooked account-books and round tripped own funds to jack down stock prices.

4058597802, had indulged i serious corporate malfeasance.

Question Number : 69 Question Id : 4058592337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words -
the curved path of something that has been fired. hit or thrown into the air?
Options :

4058597803. rallied

4058597804, transmission

4058597805, flagship

4058597806, trajectory

Question Number : 70 Question Id : 4058592338 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The word closest in meaning to 'malfeasance’ is
Options :

4058597807. malintentions



4058597808, Mmalpractice

4058597809. manifestation

4058597810, deficiency

Question Id : 4058592333 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (66 to 70)

Question Label : Comprehension



Read the given passage and answer the questions that follow -

Adani Group stocks rallied up to 18% on Wednesday ahead of the Supreme Court's
judgment in the Adani-Sebi case. The SC didn't order any investigation by other
agencies or bodies like CBI in the case and declined to interfere m Sebi's
investigation.

At close of the day's session. all 10 Adani Group stocks were in the green with
Adani Energy Solutions (formerly Adani Transmission) leading the pack with a
12% gain. Group flagship Adani Enter prises closed 2.5% higher on the BSE.

The group’s total market cap also crossed the Rs 15 lakh-crore mark in
Wednesday's session. During the day's trade. the group companies added nearly Rs
64.000 crore to the conglomerate’s total market value to Rs 15.1 lakh crore. From
its all-time high total market cap of Rs 19.2 lakh crore on January 24, 2023 the day
US-based short seller Hindenburg had published 1ts damning report against the
group it 18 still down by Rs 4.1 lakh crore or about 21%. BSE data showed.

Nearly a year ago. Hindenburg had published a report that alleged serious
corporate malfeasance by Adani Group including cooking books of accounts.
round tripping of own funds to jack up stock prices using offshore entities and over
invoicing of import costs. Adani Group denied the allegations but by February 27,
the group's market cap had dropped by about 65% to Rs 6.8 lakh crore. Since then.
it has

been on a steady upward trajectory. at times helped by SC orders that came in its
favour and other regulatory moves.

Among the group's stocks. Adani Power 1s the biggest gainer since the Hindenburg
report last year. The stock has nearly doubled. with the com pany's market cap now
at Rs 2.1 lakh crore from Rs 1.1 lakh crore then. The biggest lag gard has been
Adani Total Gas, which has lost 72% of its market value from Rs 4.3 lakh crore on
January 24, 2023, 1t is at Rs 1.2 lakh crore The other top laggards are Adani
Transmission, down from Rs 3.1 lakh crore to Rs 1.3 lakh crore, and Adam
Enterprises. down from Rs 3.9 lakh crore to Rs 3.4 lakh crore.

Sub questions

Question Number : 66 Question Id : 4058592334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the incorrect statement -

Options :

4058597791, The Supreme Court declined to interfere in Sebi's investigation.



At the close of the day's session. not all of the 10 Adani group stocks were in the
4058597792, sreell.

The group's total market cap also crossed the Rs. 15-lakh-crore mark in
4058597793, Wednesday's session.

4058597794, Among the group's stocks. Adam Power 1s the biggest gainer.

Question Number : 67 Question Id : 4058592335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Adani group has had the all time high of -

Options :

4058597795. 15.1 lakh-crore

4058597796. 19.2 lakh-crore

4058597797. 43 lakh-crore

4058597798. 68 lakh-crore

Question Number : 68 Question Id : 4058592336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Hindenburg report alleged that Adani Group -

Options :

4058597799, Interfered in Sebi's investigation before Supreme Court's judgement.



4058597800, Crossed the Rs. 15 lakh-crore mark in Wednesday's session.

4058597801, had cooked account-books and round tripped own funds to jack down stock prices.

4058597802, had indulged i serious corporate malfeasance.

Question Number : 69 Question Id : 4058592337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words -
the curved path of something that has been fired. hit or thrown into the air?
Options :

4058597803. rallied

4058597804, transmission

4058597805, flagship

4058597806, trajectory

Question Number : 70 Question Id : 4058592338 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The word closest in meaning to 'malfeasance’ is
Options :

4058597807. malintentions



4058597808, Mmalpractice

4058597809. manifestation

4058597810 deficiency

Sub-Section Number : 5
Sub-Section Id : 405859165
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592339 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (71 to 75)

Question Label : Comprehension



Read the given passage and answer the questions that follow -

The healthcare sector continued to be a hub of private equity deal activity in
2023, with India registering22deals valued at $4.6billion. This is a tad lower than
$4.7 billion achieved in 2022.

The country's growing middle class is catalysing a significant surge in healthcare
expenditure, propelled by the upswing in disposable incomes and a proliferation
of msurtech platforms. alongside the presence of private payers. says Bam &
Company's annual Global Healthcare Private Equity and M&A report.

India has seen a longterm rise in biopharma-related activity (for example, in
generics and active pharmaceutical mgredient manufacturing). albeit with a
slowdown year over year, while also witnessing growth in domestic demand
driven by an expanding middle class and government Insurance programmes.
These macroeconomic dynamics, coupled with a number of successful exits by
early investors in India such as TPG's sale of a controlling stake m Care
Hospitals to Blackstone -have propelled private equity sponsors to regard India
as a place to deploy healthcare capital at scale. it adds.

Globally too. the sector held its own in a tepid market with deals totalling around
$60 billion, despite higher global interest rates, mflationary pressures. and
broader geopolitical uncertainty Biopharma captured the bulk of dealmaking
momentum, contributing 48% of global deal value, including six deals of over $2
billion.

In .2024, mvestors will con tinue to bet on the transformative nature of
generative Al, new modalities and mnovative therapies such as glucagon-like
peptide-1 agonists (GLP-1s), and India as a place to deploy healthcare capital at
scale, the report says.

Investors secking to manage geopolitical risk began to broaden their horizons.
with India representing the largest share of announced deal value and continuing
to see a long-term rise in biopharma-

related activity The domestic pharmaceutical sector, buoyed by government
policies and skilled talent. holds a top three global position in small molecule and
generic manufacturing, satisfying 50% of global vaccine needs.

Private equity investors, mcluding Advent International, Carlyle, and PAG.
capitalised on this growth, expanding in pharma services like CDMOs and APIs.
India has historically served as the back end for many US- and Eu-rope-focused
healtheare data and analytics companies. Recent years, however, witnessed a
surge m direct-to-consumer digital health companies especially m fitness.
wellness, telemedicine, and msurtech.

Investments in Asia-Pacific are evolving, and India's favourable macro tailwinds
have made it a leading destination for capital. India has traditionally seen
mvestments in biopharma and providers. and it is still too soon to know whether
oreen shoots in other areas can achieve comparable prominence, the report said.

Sub questions

Question Number : 71 Question Id : 4058592340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The expanding middle class of India



Options :

4058597811, has caused a noticeable increase in government msurance programimes.

4058597812, has caused a noticeable increase in healthcare expenditure.

4058597813, has caused a proliferation of msurtech platforms.

has caused private equity sponsors to regard India as a place to deploy healtheare
4058597814, capital at scale.

Question Number : 72 Question Id : 4058592341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The sector that showed an upswing globally in 2023 was -
Options:

4058597815, Generative Al

4058597816, Biopharma

4058597817, Data and analytics

4058597818. Fitness and wellness

Question Number : 73 Question Id : 4058592342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Indian pharmaceutical sector saw an upswing in 2023 -

Options :



4058597819, because of country's growing middle class.

4058597820, because of a number of successtul exits by early mvestors in India.

because of India representing the largest share of announced deal value and
4058597821, confinuing to see a long-term rise in biopharma related activity.

4058597822, because of favourable government policies and skilled talent.

Question Number : 74 Question Id : 4058592343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate word for the given group of words -

'The state of being important, well known or easy to notice'.

Options :

4058597823. hub

4058597824, significant

4058597825, dynamic

4058597826, Prominence

Question Number : 75 Question Id : 4058592344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The closest synonym for 'tepid’ 1s



Options :

4058597827. lukewarm

4058597828. volatile

4058597829. slow

4058597830. frozen

Question Id : 4058592339 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (71 to 75)

Question Label : Comprehension



Read the given passage and answer the questions that follow -

The healthcare sector continued to be a hub of private equity deal activity in
2023, with India registering22deals valued at $4.6billion. This is a tad lower than
$4.7 billion achieved in 2022.

The country's growing middle class is catalysing a significant surge in healthcare
expenditure, propelled by the upswing in disposable incomes and a proliferation
of msurtech platforms. alongside the presence of private payers. says Bam &
Company's annual Global Healthcare Private Equity and M&A report.

India has seen a longterm rise in biopharma-related activity (for example, in
generics and active pharmaceutical mgredient manufacturing). albeit with a
slowdown year over year, while also witnessing growth in domestic demand
driven by an expanding middle class and government Insurance programmes.
These macroeconomic dynamics, coupled with a number of successful exits by
early investors in India such as TPG's sale of a controlling stake m Care
Hospitals to Blackstone -have propelled private equity sponsors to regard India
as a place to deploy healthcare capital at scale. it adds.

Globally too. the sector held its own in a tepid market with deals totalling around
$60 billion, despite higher global interest rates, mflationary pressures. and
broader geopolitical uncertainty Biopharma captured the bulk of dealmaking
momentum, contributing 48% of global deal value, including six deals of over $2
billion.

In .2024, mvestors will con tinue to bet on the transformative nature of
generative Al, new modalities and mnovative therapies such as glucagon-like
peptide-1 agonists (GLP-1s), and India as a place to deploy healthcare capital at
scale, the report says.

Investors secking to manage geopolitical risk began to broaden their horizons.
with India representing the largest share of announced deal value and continuing
to see a long-term rise in biopharma-

related activity The domestic pharmaceutical sector, buoyed by government
policies and skilled talent. holds a top three global position in small molecule and
generic manufacturing, satisfying 50% of global vaccine needs.

Private equity investors, mcluding Advent International, Carlyle, and PAG.
capitalised on this growth, expanding in pharma services like CDMOs and APIs.
India has historically served as the back end for many US- and Eu-rope-focused
healtheare data and analytics companies. Recent years, however, witnessed a
surge m direct-to-consumer digital health companies especially m fitness.
wellness, telemedicine, and msurtech.

Investments in Asia-Pacific are evolving, and India's favourable macro tailwinds
have made it a leading destination for capital. India has traditionally seen
mvestments in biopharma and providers. and it is still too soon to know whether
oreen shoots in other areas can achieve comparable prominence, the report said.

Sub questions

Question Number : 71 Question Id : 4058592340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The expanding middle class of India



Options :

4058597811, has caused a noticeable increase in government msurance programimes.

4058597812, has caused a noticeable increase in healthcare expenditure.

4058597813, has caused a proliferation of msurtech platforms.

has caused private equity sponsors to regard India as a place to deploy healtheare
4058597814, capital at scale.

Question Number : 72 Question Id : 4058592341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The sector that showed an upswing globally in 2023 was -
Options:

4058597815, Generative Al

4058597816, Biopharma

4058597817, Data and analytics

4058597818. Fitness and wellness

Question Number : 73 Question Id : 4058592342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Indian pharmaceutical sector saw an upswing in 2023 -

Options :



4058597819, because of country's growing middle class.

4058597820, because of a number of successtul exits by early mvestors in India.

because of India representing the largest share of announced deal value and
4058597821, confinuing to see a long-term rise in biopharma related activity.

4058597822, because of favourable government policies and skilled talent.

Question Number : 74 Question Id : 4058592343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate word for the given group of words -

'The state of being important, well known or easy to notice'.

Options :

4058597823. hub

4058597824, significant

4058597825, dynamic

4058597826, Prominence

Question Number : 75 Question Id : 4058592344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The closest synonym for 'tepid’ 1s



Options :

4058597827. lukewarm

4058597828. volatile

4058597829. slow

4058597830. frozen

Sub-Section Number : 6
Sub-Section Id : 405859166
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592345 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (76 to 80)

Question Label : Comprehension



Read the given passage and answer the questions that follow -

Water lsaacson. biographer of tech visionaries like Steve Jobs and Elon Musk,
has also told the story of the many- splendoured Leonardo da Vinci, whose
accomplishments sprang from his capacity to marvel at the world.

Leonardo made the two most famous paintings i history - Mona Lisa and
The Last Supper - but thought of himself as much a scientist and engineer
Driven by curiosity and equipped with acute powers of observation. he peeled
the skin of cadavers to understand the muscles that moved the smile and the
mysteries of the skeleton. He studied optics, and mastered shading and
perspective: this dimensionality became the supreme innovation of Renaissance
art. Leonardo was not formally schooled but saw himself as a disciple of
experience’.

Everything flowed mto everything else, as he looked for patterns and
analogies between the human body and the world. His notebooks reveal his
'matchlessly weird' mind with its to- do lists, math challenges., drawings of his
boyiriend. bird. theatre props. flying machines. riddles. painting tips. weapons,
grotesque heads and fables. He would find patterns in curls of hair, eddies of
water and whirls of anwr.

Being born out of wedlock freed him from following in his father's footsteps
as a notary. Illegitimate, gay left- handed. vegetarian: and yet, Leonardo was right
at home in 15th century Florence, which welcomed misfits and rebels. A cradle
of art and commerce under the Medicis. it was the perfect setting for Leonardo's
artistic experiments. He apprenticed at a workshop, learning to sculpt bodies in
motion, the folds of drapery the harmonies of geometry He pioneered sfumato
(from the word for smoke)- a way of blurring edges to render objects az they
appear to the eye.

Leonardo also worked in theatre pageants, on sets and dazzling props to
change scenery His aerial screw - regarded as a prototype helicopter - came from
this experience.

He was impelled by scientific humanism. unbothered by religious dogma. His
famous Vitruvian man shows his search for the 'universal measure of man',
seeing human bodies as microcosms of the universe.

And yet. the book shows that he was no genius touched by lightning. but a
fanciful mortal who enjoyed conception more than completion.

He had masterpieces that remamed unfinished, impractical fantasies. flying
machines that never flew, military strategies, attempts to square the circle, to
divert rivers.

His patrons included the ruthless Ludovico Sforza and Cesare Borgia, he was
friends with Niccolo Machiavelli. In midlife, he clashed with the rising star
Michelangelo. whose clearcut anatomy renderings he declared wooden rather
than human. He refused to paint a rich marchesa no matter how much she
begged. but gladly began a painting of a silk merchant's wife: labouring over it
until he died. never delivering it to the merchant. That pamting was the enigmatic
Mona Lisa.

Does Leonardo's life hold out lessons for aspiring creatives? The book has
some tips: Be relentlessly curious. pursue knowledge for its own sake. observe.
Start with the details. go down rabbit holes. but allow yourself to be distracted
too. Collaborate. take notes. Respect facts. but indulge fantasy and let your
reach exceed your grasp. And finally. be open to mystery.

Sub questions

Question Number : 76 Question Id : 4058592346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Renaissance art 1s characterized by -



Options :

4058597831, splendour

4058597832, shading and perspective

4058597833, Patterns and analogies

4058597834, harmonies of geometry

Question Number : 77 Question Id : 4058592347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate statement that describes Vinei's vision -
Options :

4058597835, He had a limited capacity to marvel at the world.

4058597836, He was illegitimate and left-handed.

4058597837, He apprenticed at a work shop. learning to sculpt bodies in motion.

4058597838. He saw human bodies as microcosms of the universe.

Question Number : 78 Question Id : 4058592348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The author of this passage considers Leonardo da Vinei a 'more tanciful mortal’
rather than a genius because -



Options :

4058597839, his accomplishments sprang from his capacity to marvel at the world.

4058597840, he was not formally schooled but was 'a disciple of experience’.

4058597841, he was impelled by scientific humanism unbothered by religious dogma.

he had unfinished masterpieces, impractical fantacies and flying machines that
4058597842, never flew.

Question Number : 79 Question Id : 4058592349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the following group of words -

"Mysterious and difficult to understand'
Options :

4058597843, marvel

4058597844, weird

4058597845, cnigmatic

4058597846, fantasy

Question Number : 80 Question Id : 4058592350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



The closest synonym of the word 'ugly’ 1s -

Options:

4058597847 splendoured

4058597848, impelled

4058597849, weird

4058597850, grotesque

Question Id : 4058592345 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (76 to 80)

Question Label : Comprehension



Read the given passage and answer the questions that follow -

Water lsaacson. biographer of tech visionaries like Steve Jobs and Elon Musk,
has also told the story of the many- splendoured Leonardo da Vinci, whose
accomplishments sprang from his capacity to marvel at the world.

Leonardo made the two most famous paintings i history - Mona Lisa and
The Last Supper - but thought of himself as much a scientist and engineer
Driven by curiosity and equipped with acute powers of observation. he peeled
the skin of cadavers to understand the muscles that moved the smile and the
mysteries of the skeleton. He studied optics, and mastered shading and
perspective: this dimensionality became the supreme innovation of Renaissance
art. Leonardo was not formally schooled but saw himself as a disciple of
experience’.

Everything flowed mto everything else, as he looked for patterns and
analogies between the human body and the world. His notebooks reveal his
'matchlessly weird' mind with its to- do lists, math challenges., drawings of his
boyiriend. bird. theatre props. flying machines. riddles. painting tips. weapons,
grotesque heads and fables. He would find patterns in curls of hair, eddies of
water and whirls of anwr.

Being born out of wedlock freed him from following in his father's footsteps
as a notary. Illegitimate, gay left- handed. vegetarian: and yet, Leonardo was right
at home in 15th century Florence, which welcomed misfits and rebels. A cradle
of art and commerce under the Medicis. it was the perfect setting for Leonardo's
artistic experiments. He apprenticed at a workshop, learning to sculpt bodies in
motion, the folds of drapery the harmonies of geometry He pioneered sfumato
(from the word for smoke)- a way of blurring edges to render objects az they
appear to the eye.

Leonardo also worked in theatre pageants, on sets and dazzling props to
change scenery His aerial screw - regarded as a prototype helicopter - came from
this experience.

He was impelled by scientific humanism. unbothered by religious dogma. His
famous Vitruvian man shows his search for the 'universal measure of man',
seeing human bodies as microcosms of the universe.

And yet. the book shows that he was no genius touched by lightning. but a
fanciful mortal who enjoyed conception more than completion.

He had masterpieces that remamed unfinished, impractical fantasies. flying
machines that never flew, military strategies, attempts to square the circle, to
divert rivers.

His patrons included the ruthless Ludovico Sforza and Cesare Borgia, he was
friends with Niccolo Machiavelli. In midlife, he clashed with the rising star
Michelangelo. whose clearcut anatomy renderings he declared wooden rather
than human. He refused to paint a rich marchesa no matter how much she
begged. but gladly began a painting of a silk merchant's wife: labouring over it
until he died. never delivering it to the merchant. That pamting was the enigmatic
Mona Lisa.

Does Leonardo's life hold out lessons for aspiring creatives? The book has
some tips: Be relentlessly curious. pursue knowledge for its own sake. observe.
Start with the details. go down rabbit holes. but allow yourself to be distracted
too. Collaborate. take notes. Respect facts. but indulge fantasy and let your
reach exceed your grasp. And finally. be open to mystery.

Sub questions

Question Number : 76 Question Id : 4058592346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Renaissance art 1s characterized by -



Options :

4058597831, splendour

4058597832, shading and perspective

4058597833, Patterns and analogies

4058597834, harmonies of geometry

Question Number : 77 Question Id : 4058592347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate statement that describes Vinei's vision -
Options :

4058597835, He had a limited capacity to marvel at the world.

4058597836, He was illegitimate and left-handed.

4058597837, He apprenticed at a work shop. learning to sculpt bodies in motion.

4058597838. He saw human bodies as microcosms of the universe.

Question Number : 78 Question Id : 4058592348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The author of this passage considers Leonardo da Vinei a 'more tanciful mortal’
rather than a genius because -



Options :

4058597839, his accomplishments sprang from his capacity to marvel at the world.

4058597840, he was not formally schooled but was 'a disciple of experience’.

4058597841, he was impelled by scientific humanism unbothered by religious dogma.

he had unfinished masterpieces, impractical fantacies and flying machines that
4058597842, never flew.

Question Number : 79 Question Id : 4058592349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the following group of words -

"Mysterious and difficult to understand'
Options :

4058597843, marvel

4058597844, weird

4058597845, cnigmatic

4058597846, fantasy

Question Number : 80 Question Id : 4058592350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



The closest synonym of the word 'ugly’ 1s -

Options:

4058597847 splendoured

4058597848, impelled

4058597849, weird

4058597850, grotesque

Sub-Section Number : 7
Sub-Section Id : 405859167
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592351 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (81 to 85)

Question Label : Comprehension



Read the given passage and answer the questions that follow :

After a roller-coaster ride on the wealth rankings last year. Gautam Adani
15 back to being Asia's wealthiest person -days after the country's top court said no
new probes were needed into Hindenburg Research's bombshell allegations against
the tycoon's conglomerate.

Adani's net worth rose in to $7.7 billion a day $97.6 billion. reclaiming the
top spot in the region from Mukesh Ambani. according to Bloomberg Billionaires
Index. Ambani. chairman of Reliance Industries, was trailing by a narrow margin
with a net worth of $97 billion, the index shows.

The comeback of the first generation entrepreneur, who started off as a
diamond trader in the 1980s. caps an eventful year for Adani's ports-to-power
conglomerate. Despite denying Hindenburg's allegations of corporate fraud. the
Adani Group lost more than $150 billion in market value at one point last year and
spent months wooing back investors. lenders. repaying debt and assuaging
regulatory concerns.

Adani Group's stocks rallied after Supreme Court this week ordered the
local markets regulator to conclude 1ts mvestigation into the conglomerate within
three months and said no more probes were needed. effectively drawing a line
under the year-long short-seller saga.

The court reprieve stoked a $13.3 billion wealth gain for Adani - world's
largest this year - after logging one of the world's largest wealth losses in 2023.

Adani's net worth, however, is yet to fully recover from the short-geller's
broadside. It was at $118.9 billion at the close of January 24. just before
Hindenburg's report was published.

Adani, whose conglomerate has committed an nvestment of $100 billion
over the next decade for green transition across its businesses. 1s back to rapidly
diversifying his empire beyond lis coal trading origins mto data centers. Al urban
development, air ports and media.

Sub questions

Question Number : 81 Question Id : 4058592352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The reason for Gautam Adani regaining his position of being the wealthiest person
in Asia 1s -

Options :

4058597851, a roller-coaster ride on the wealth rankings last year.



the Supreme Court saying that no new probes were needed into the allegations
4058597852, against the Adani Group.

4058597853, that the Bloomberg Billionaires Index shows him ahead of Mukesh Ambani.

4058597854. that it has been able to woo back the investors and lenders.

Question Number : 82 Question Id : 4058592353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The net worth of Adani Group at the time of writing this article 1s -

Options :

4058597855. 97.6 billion

4058597856. 150 billion

4058597857. 13.3 billion

4058597858, 118.9 billion

Question Number : 83 Question Id : 4058592354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Adani group has committed to -
Options :

4058597859, regain its market share.

4058597860, regain its investors and lenders.



4058597861 . repay its debts and assuage regulatory concerns.

4058597862, go ahead with green transition across its businesses.

Question Number : 84 Question Id : 4058592355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate word to fill in the blanks -

The Cabinet behind the Prime Minister.
Options :

4058597863. needed

4058597864, started off

4058597865. rallied

4058597866. stoked

Question Number : 85 Question Id : 4058592356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words -

'to make an unpleasant fecling less severe’

Options:

4058597867, Probe



4058597868. bombshell

4058597869. assuage

4058597870, reprieve

Question Id : 4058592351 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (81 to 85)

Question Label : Comprehension



Read the given passage and answer the questions that follow :

After a roller-coaster ride on the wealth rankings last year. Gautam Adani
15 back to being Asia's wealthiest person -days after the country's top court said no
new probes were needed into Hindenburg Research's bombshell allegations against
the tycoon's conglomerate.

Adani's net worth rose in to $7.7 billion a day $97.6 billion. reclaiming the
top spot in the region from Mukesh Ambani. according to Bloomberg Billionaires
Index. Ambani. chairman of Reliance Industries, was trailing by a narrow margin
with a net worth of $97 billion, the index shows.

The comeback of the first generation entrepreneur, who started off as a
diamond trader in the 1980s. caps an eventful year for Adani's ports-to-power
conglomerate. Despite denying Hindenburg's allegations of corporate fraud. the
Adani Group lost more than $150 billion in market value at one point last year and
spent months wooing back investors. lenders. repaying debt and assuaging
regulatory concerns.

Adani Group's stocks rallied after Supreme Court this week ordered the
local markets regulator to conclude 1ts mvestigation into the conglomerate within
three months and said no more probes were needed. effectively drawing a line
under the year-long short-seller saga.

The court reprieve stoked a $13.3 billion wealth gain for Adani - world's
largest this year - after logging one of the world's largest wealth losses in 2023.

Adani's net worth, however, is yet to fully recover from the short-geller's
broadside. It was at $118.9 billion at the close of January 24. just before
Hindenburg's report was published.

Adani, whose conglomerate has committed an nvestment of $100 billion
over the next decade for green transition across its businesses. 1s back to rapidly
diversifying his empire beyond lis coal trading origins mto data centers. Al urban
development, air ports and media.

Sub questions

Question Number : 81 Question Id : 4058592352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The reason for Gautam Adani regaining his position of being the wealthiest person
in Asia 1s -

Options :

4058597851, a roller-coaster ride on the wealth rankings last year.



the Supreme Court saying that no new probes were needed into the allegations
4058597852, against the Adani Group.

4058597853, that the Bloomberg Billionaires Index shows him ahead of Mukesh Ambani.

4058597854. that it has been able to woo back the investors and lenders.

Question Number : 82 Question Id : 4058592353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The net worth of Adani Group at the time of writing this article 1s -

Options :

4058597855. 97.6 billion

4058597856. 150 billion

4058597857. 13.3 billion

4058597858, 118.9 billion

Question Number : 83 Question Id : 4058592354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Adani group has committed to -
Options :

4058597859, regain its market share.

4058597860, regain its investors and lenders.



4058597861 . repay its debts and assuage regulatory concerns.

4058597862, go ahead with green transition across its businesses.

Question Number : 84 Question Id : 4058592355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate word to fill in the blanks -

The Cabinet behind the Prime Minister.
Options :

4058597863. needed

4058597864, started off

4058597865. rallied

4058597866. stoked

Question Number : 85 Question Id : 4058592356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words -

'to make an unpleasant fecling less severe’

Options:

4058597867, Probe



4058597868. bombshell

4058597869. assuage

4058597870, reprieve

Sub-Section Number : 8
Sub-Section Id : 405859168
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 4058592357 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (86 to 90)

Question Label : Comprehension



Read the given passage and answer the questions that follow:

Auto Expo, which has for years been India's premier motor show:, 1s set to lose
some sheen with government lining up Bharat Mobility Expo. a three day event
starting February 1. The event will bring 11 agencies representing the multiple
segments. from car makers to components. tyres. electric vehicles, construction to
battery and electronics outfits under one platform.

While this year's show has been put together quickly. a talking poimnt 1 industry
circles 1s commerce and industry minister Piyush Goyal's suggestion to expand the
Mobility Show beyond Bharat Mandapam (the original venue of the Auto - Expo
when it was called Pragati Maidan) to also include the recently completed
Yashobhoomi in Dwarka. and subsequently the Noida Expo Centre (the current
home of the Auto Expo).

While Goyal did not give any dates for next year, Auto Expo has been held every
alternate year in January-February.

At a meeting on Friday. the minister was candid about a pushback from industry
players when he first suggested the mega mobility show. The minister's suggestion
that this won't be a one-off event got industry players talking about the possibility
of dealing with it next year too.,

For the moment. the Society of Indian Automobile Manufacturers or Siam, the
Auto Expo 1s sticking to its plan. "Let this event (Bharat Mobuility) get over.” said a
functionary.

While the industry lobby group has been pitching it as ~ a main auto show, several
top players have been giving 1t a miss. For mstance. m 2023, many major players,
~ including Mahindra & Mahindra. Honda. Mercedes, BMW., VW, Skoda. Hero
Honda and Bajaj Auto decided to skip the event.

In contrast, Goyal has nudged the entire mobility sector to join Bharat Mobility
Expo as part of its drive to position India as an attractive MICE (meetings,.
incentives. conferences and exhibitions) destination with several shows. including
those for textiles. gems and jewellery and food lined up until March.

So far, 600 exhibitors. including over 50 from overseas, are expected to participate
in this edition's Bharat Mobility. the organizers said.

Sub questions

Question Number : 86 Question Id : 4058592358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The event starting from February 1 is called

Options :

4058597871, Auto Expo

4058597872, Bharat Mobility Expo



4058597873. Mobility Show

4058597874, Noida Expo

Question Number : 87 Question Id : 4058592359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The new name for Pragati Maidan 1s -
Options:

4058597875, Bharat Mandapam

4058597876. Yashobhoomi

4058597877, Expo Centre

4058597878, Noida Expo centre

Question Number : 88 Question Id : 4058592360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
The ™' in MICE stands for -
Options :

4058597879, Mobility

4058597880. Manufacturers

4058597881. Mercedez



4058597882, Meetings

Question Number : 89 Question Id : 4058592361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The total number of differences i the given sentence, from the passage are -

For a moment. the society of Indian Automobiles manufacturers or Siam. the Auto
Expo was sticking to their plan.

Options :

4058597883. 3

4058597884, 4

4058597885. 5

4058597886. 6

Question Number : 90 Question Id : 4058592362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as -

'Saying what you think openly and honestly’

Options :

4058597887, talking

4058597888, pitching



4058597889. conference

4058597890. candid

Question Id : 4058592357 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (86 to 90)

Question Label : Comprehension

Read the given passage and answer the questions that follow:

Auto Expo, which has for years been India's premier motor show:, 1s set to lose
some sheen with government lining up Bharat Mobility Expo. a three day event
starting February 1. The event will bring 11 agencies representing the multiple
segments. from car makers to components. tyres. electric vehicles, construction to
battery and electronics outfits under one platform.

While this year's show has been put together quickly. a talking poimnt in industry
circles 13 commerce and industry minister Piyush Goyal's suggestion to expand the
Mobulity Show beyond Bharat Mandapam (the original venue of the Auto - Expo
when it was called Pragati Maidan) to also include the recently completed
Yashobhoomi in Dwarka, and subsequently the Noida Expo Centre (the current
home of the Auto Expo).

While Goyal did not give any dates for next year, Auto Expo has been held every
alternate year in January-February.

At a meeting on Friday. the minister was candid about a pushback from industry
players when he first suggested the mega mobility show. The minister's suggestion
that this won't be a one-off event got industry players talking about the possibility
of dealing with it next year too.,

For the moment. the Society of Indian Automobile Manufacturers or Siam. the
Auto Expo i1s sticking to its plan. "Let this event (Bharat Mobulity) get over."” said a
functionary.

While the industry lobby group has been pitching it as ~ a main auto show, several
top players have been giving it a miss. For instance. i 2023, many major players.
~ mcluding Mahindra & Mahindra. Honda, Mercedes. BMW. VW. Skoda. Hero
Honda and Bajaj Auto decided to skip the event.

In contrast, Goyal has nudged the entire mobility sector to join Bharat Mobility
Expo as part of its drive to position India as an attractive MICE (meetings.
incentives. conferences and exhibitions) destination with several shows. including
those for textiles. gems and jewellery and food lined up until March.

So far, 600 exhibitors, including over 50 from overseas, are expected to participate
in this edition's Bharat Mobility. the organizers said.

Sub questions



Question Number : 86 Question Id : 4058592358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The event starting from February 1 1s called

Options :

4058597871, Auto Expo

4058597872, Bharat Mobility Expo

4058597873. Mobility Show

4058597874, Noida Expo

Question Number : 87 Question Id : 4058592359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The new name for Pragati Maidan is -
Options :

4058597875, Bharat Mandapam

4058597876. Yashobhoomi

4058597877, Expo Centre

4058597878, Noida Expo centre



Question Number : 88 Question Id : 4058592360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
The ™' in MICE stands for -
Options :

4058597879, Mobility

4058597880. Manufacturers

4058597881. Mercedez

4058597882, Meetings

Question Number : 89 Question Id : 4058592361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The total number of differences in the given sentence, from the passage are -

For a moment. the society of Indian Automobiles manufacturers or Siam. the Auto
Expo was sticking to their plan.

Options:

4058597883. 3

4058597884. 4

L

4058597885.

4058597886. 6



Question Number : 90 Question Id : 4058592362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as -

'Saying what you think openly and honestly’

Options :

4058597887, talking

4058597888, Pitching
4058597889. conference

4058597890. candid

Quantatitive Ability

Section Id : 405859128
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Section Marks : 10
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Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 91 Question Id : 4058592363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A and B entered into a business partnership with Rs. 50,000 and Rs. 60.000,
respectively. C joined them after X months by contributing Rs. 70.000 and B left X
months before the end of the year. If they shared the profit in the ratio 20:18:21.
then the value of X is

Options :

4058597891. 3
4058597892. 6
4058597893. 8

4058597894, 9

Question Number : 91 Question Id : 4058592363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4058597891. 3

4058597892. 6



4058597893. 8§

4058597894, 9

Question Number : 92 Question Id : 4058592364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

After allowing a discount of 10% on the marked price, a trader still makes a profit
of 17%. By what percentage 18 the marked price above the cost price?

Options :
4058597895. 20%

4058597896. 30%

4058597897. 28%

| )
~J
w

4058597898.

Question Number : 92 Question Id : 4058592364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

5 AURT 3Hfdhd Ted TR 10% 1 G921 UaH B & arg Ui 17% BT TS
S & | 3ifdd Jeg arTd 90 & fa- uiawrd siitie g2

Options :

4058597895. 20%

4058597896. 30%



4058597897. 28%

4058597898. 27%

Question Number : 93 Question Id : 4058592365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Sugar syrup A contains 40% sugar and Sugar syrup B contain 80% sugar. In what
ratio Syrup A and Syrup B be mixed to obtain a syrup with 65% sugar?

Options :

| )
L]

4058597899.

4058597900. 3:4

Lh

4058597901. 3:

Lh

4058597902. 4

Question Number : 93 Question Id : 4058592365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

1T I T A T 40% Ii1 3R D1 BT B H 80% A1 8 1 65% DAt
aTel! AT @1 W o FRMAT A SR F1=RHT B @I 6y sura | fiemar a1
1feu?

Options :

4058597899. 2:3

4058597900. 3:4



4058597901. 3:5

4058597902. 4:5

Question Number : 94 Question Id : 4058592366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A man and a woman can do a piece of work 1n 7 days and 8 days. respectively. If
both finish the work with the help of a boy in 3 days and get payment of Rs. 1.400.
then the share of the boy, 1s:

Options :

4058597903. Rs. 275
4058597904. Rs. 525
4058597905. Rs. 600

4058597906. Rs. 250

Question Number : 94 Question Id : 4058592366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4058597903. ¥. 275

4058597904, ¥. 525



4058597905. ®. 600

4058597906. ¥. 250

Question Number : 95 Question Id : 4058592367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

If the cost price of 15 pieces of an item 18 equal to the selling price of 12 pieces of
the item. What 1s the profit percentage?

Options :

4058597907. 20%
4058597908. 24%
4058597909. 25%

4058597910. 30%

Question Number : 95 Question Id : 4058592367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4058597907. 20%

4058597908. 24%



4058597909. 25%

4058597910. 30%

Question Number : 96 Question Id : 4058592368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

What should be the least number of years in which the simple interest on Rs. 2.500
|

at 36 % will be the exact number of rupees?

Options :

4058597911, < year
4058597912, 3 year
4058597913, O year

4058597914, 9 year

Question Number : 96 Question Id : 4058592368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

aNt &1 a8 AT HE= F1 511 9oy fored 3%% DI I 2. 2500 T YR
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Options :

4058597911, 2 @Y



4058597912, 3 G4

4058597913, 6 AY

4058597914, 9 GY

Question Number : 97 Question Id : 4058592369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
If3% = xz and x2=3° =7, then b is equal to:
Options :
2ac
4058597915. a +c¢

4058597916. a +c¢

4058597917, 2la—c¢)

4058597918, 2(c —a)

Question Number : 97 Question Id : 4058592369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
gid 1? = xz 3%?1"?:}'5 = 2¢. 4l b [P RS 87

Options :



4058597915, a +¢

4058597916. a +c¢

4058597917, 2(a—c¢)

4058597918 2lc—a)

Question Number : 98 Question Id : 4058592370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

e s s i A e : ;
The sum of two numbers 1s 65. Their difference 1s — of their sum. Their LCM 1s:
5

Options :

4058597919. 78
4058597920. 86
4058597921, 156

4058597922. 172

Question Number : 98 Question Id : 4058592370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4058597919. 78
4058597920. 86
4058597921. 156

4058597922, 172

Question Number : 99 Question Id : 4058592371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The rational number representing number ()24 . 1s:

Options:

|-\-\-:

Y
W

4058597923. *

4058597924, 33

4058597925, 99

4058597926. 33

Question Number : 99 Question Id : 4058592371 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
033 T8N &1 F=Ud ®4 ardl gAY & §:

Options:

|-\-\-1

=
i

4058597923. *
4058597924, 33
4058597925, 99

4058597926. 33

Question Number : 100 Question Id : 4058592372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
b

If a” = b2 then [ b | “ is equal to:
o

5

)

4058597928, b*“

Options :

4058597927 b

|'f I:I'_lx.
4058597929, 2a"" J



4058597930, a“ 7

Question Number : 100 Question Id : 4058592372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Hﬁa%bﬂ.fﬁ[’fr“ fras s e

o

&

(b )
)

!\ o

Options:

4058597927 b

4058597928. b

|'r il'_l ]
4058597929, 2a"" J

'/b l‘*.

4058597930, a*“ *

Analytical & Logical Ability

Section Id : 405859129
Section Number : 4
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 25

Number of Questions to be attempted : 25

Section Marks : 25

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 405859170
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 101 Question Id : 4058592373 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Count the number of cubes in the given figure:

Options:

4058597931. 6

4058597932. 8

4058597933. 10

4058597934. 12



Question Number : 101 Question Id : 4058592373 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U TIU 3G § U9 & =1 &1 MUE] Hifeid

Options:

4058597931. 6

4058597932. §

4058597933. 10

4058597934, 12

Question Number : 102 Question Id : 4058592374 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A cube 1s coloured black on all six faces. It 1s then cut into 64 smaller cubes of
equal size. How many cubes are there which have only one face coloured?

Options :

4058597935. 12

4058597936. 24



4058597937. 18

4058597938. 8§

Question Number : 102 Question Id : 4058592374 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

el e Par dR T H | R 58 JHH APR & 64 Bic 941 1
Prel oal & | ford= U4 & oo $ad U Bad Ji 82

Options :

4058597935. 12

4058597936. 24

4058597937. 18

4058597938. 8

Question Number : 103 Question Id : 4058592375 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A.B.C.D.E. F and G are sitting in a circle facing at the centre and playing cards.
E 1s neighbour of A and D and G 1s not between F and C. F 1s to the immediate
right of A. which of the following does not have the pair of persons sitting adjacent
to each other:

Options:

4058597939. BA

4058597940. CB



4058597941. DE

4058597942. GD

Question Number : 103 Question Id : 4058592375 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A.B.C.D.E.F UG G $% Bl 3R g PP NADR 48 ¢ 94 P15 WA W@ g | E.
ARDBIUSHI§ AR G.F AR C H aid el g1 WY B, F. AP qid aidl 3R
g | FEfaRad & 9 SH-31 Uh-gu) 3 Yo o061 3 T8l 8?2

Options :

4058597939. BA

4058597940. CB

4058597941. DE

4058597942, GD

Question Number : 104 Question Id : 4058592376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Anil. Bob. Chetan, Deepak. Elan and Farid are sitting on the ground in a hexagonal
shape. All the sides of the hexagon formed are of same length. Anil is not adjacent
to Bob or Chetan: Deepak 1s not adjacent to Chetan or Elan: Bob and Chetan are
adjacent: Farid 1s in the middle of Deepak and Chetan.

Which of the following 1s a correct neighbour pair?

Options :



4058597943. Anil and Farid

4058597944, Bob and Deepak

4058597945, Elan and Chetan

4058597946, Deepak and Anil

Question Number : 104 Question Id : 4058592376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

31f1e7. S, Ia. ST, a1 3R Bile OHl- R YWD R 3Pid § 66 §U
©. 4 9 Yo fore w8 &1 §3M1 8. 370! ol 90 81 &ia, afa a1
a1 & Ifddc el o: 2/9d. Ia- g1 A & JIHE ol o: 81d 3R I
gide 5. Biie, 319 3R 94 & A4 | FEfaiad 3 9 &5 s I8! ufaasi

g

Options :

4058597943, T 3R WG

4058597944, §14 3{R 4IU®

[ S
4058597945, ZCT SR =

4058597946, &9 3R AHd

Question Number : 105 Question Id : 4058592377 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
If

"P+(Q' means 'P' 1s the father of 'Q".
"PxQ' means P’ 1s the brother of 'Q".
"P—Q' means 'P' 1s the mother of 'Q'.

then which of the following 1s definitely true about C—A + B?
Options:

4058597947. B is the son of A
4058597948. B is the father of A
4058597949, A is the son of C

4058597950. C 15 the mother of B

Question Number : 105 Question Id : 4058592377 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

afg

P+Q HT HY P, 'Q FI [T B

PxQ T 31U P, 'Q B HIg B

P-Q BT 31 P, 'Q B A Bl

AT e sRaIc-A+BF IR T AT d @ o2

Options :

4058597947, B. AT §CI B

4058597948, B. A1 [UaT B



4058597949, A. C PIECT &I

4058597950, C. B B HI B

Question Number : 106 Question Id : 4058592378 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A girl introduced a boy as the son of the only daughter of the father of her maternal
uncle. The boy 1s girl's

Options :

4058597951, Brother
4058597952, Son
4058597953, Uncle

4058597954, Son-in-law

Question Number : 106 Question Id : 4058592378 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U TSHI 4 Ub TS DI YN 30 HH & Udl &I UhHE Tl & G & 3Y
T ST AP ASPH] Bl gl

Options :

4058597951.1W§

4058597952, §el



4058597953, AT

4058597954, alHIG

Question Number : 107 Question Id : 4058592379 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

If L stands for +, M stands for —. N stands for =, P stands for —. then
14N10L42P2MS8 = 2

Options :

4058597955. 152

4058597956. 153

4058597957. 251

| R}
L
[ ]

4058597958.

Question Number : 107 Question Id : 4058592379 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
afe L &1 312 + M BT 312f - N BT 372 « aUT P 31 + B, T 14N10L42P2MS8 =

9

Options :

4058597955. 152

4058597956. 153



4058597957. 251

4058597958. 252

Question Number : 108 Question Id : 4058592380 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If the signs + and + are interchanged and numbers 2 and 4 are interchanged then
which one of the following four equations would be correct?

Options :

4058597959. 243 =3

4058597960. 4+2+-6=1.5

4058597961, 4-2+3 =4

4058597962, 2+4-6=§

Question Number : 108 Question Id : 4058592380 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

afe + auT = gl P Sal-gaal &1 T 81 3R 2 9uT 4 Tw=araf &1 oi arca-
dedl ot Tt 8. df FEfafad IR gdiel § 9 &5 98 s

Options :

4058597959. 243 =3

4058597960. 4+2+6 = 1.5



4058597961, 4+2+3 =4

4058597962, 246 =8

Question Number : 109 Question Id : 4058592381 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The positions of the first and the second digits in the numbers 8943156724
are interchanged. Similarly the positions of the third and fourth digits are
interchanged and so on. Which of the following will be the third to the left of the
seventh digit from the left after the rearrangement?

Options :

| R

4058597963.
4058597964. 4
4058597965. 7

4058597966. Y

Question Number : 109 Question Id : 4058592381 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

-2 &1 718 S E Ugd aUT R 3% & RIH &I 0 § gad fear g | 4t
THR TR 9UT Y 3ic &7 i i 309 & ged g mar g1 3 st &t ot
=l PR dea T 5 | 39 SISl daal & &G ard iR ¥ HRY FA R grad
3icp & adf 3R @ TRy ofs a1 g

8943156724

Options:




| )

4058597963.

4058597964, 4

4058597965. 7

4058597966. 9

Question Number : 110 Question Id : 4058592382 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

How many even numbers are there in the following sequence of numbers each of
which i1s immediately followed by an odd number as well as immediately preceded
by an even number?

867689327534223552281189
Options :

4058597967. Une

4058597968. Three

4058597969. Five

4058597970. Four

Question Number : 110 Question Id : 4058592382 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



[Fr=TfarEd S@nsl & Sfed H fa-! Ul 99 S © o 8 Udi® ol
M ead Jurddl U (a9 9341 § 3IR [Haedd Jdad| Ueh 99 91 57
86768932753422355228119

Options :

4058597967, Y&

4058597968, T

4058597969, UId

4058597970. dIX

Question Number : 111 Question Id : 4058592383 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A cube 18 painted yellow on all faces 1s cut in 27 small cubes of equal size. How
many cubes are painted on one face only?

Options :
4058597971. 1
4058597972. 6

4058597973. 8§

4058597974. 12

Question Number : 111 Question Id : 4058592383 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

U v forges 9t Bas! of Tl T TR §. 39 9 SR & 27 B U= 5
®IeT ordl o | food Ui & Sad U Bad W ol I 82

Options :

4058597971. 1

4058597972. 6

4058597973. 8§

4058597974. 12

Question Number : 112 Question Id : 4058592384 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Two buses start from the opposite points of a main road. 150 km apart. The first
bus runs for 25 km and takes a right turn and then runs for 15 km. If then turns left
and runs for another 25 km and takes the direction back to reach the main road. In
the meantime, due to a minor breakdown, the other bus has run only 35 km along
the main road. What would be the distance between the two buses at this point?

Options :
4058597975. 55 km
4058597976. 65 km

4058597977. 75 km

4058597978. 80 km

Question Number : 112 Question Id : 4058592384 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

& &8 T S & fawid fagefi off e 150 fob 1. QR 8. 9 91 Lo PRl B
UEd &4 25 fob Al Ferdl 8 ok Rl SR gocfl 8 3R b 15 fob At =t 81
i T8 15 3R godl & auT 25 fa . 3R Iaid 8 3R B9 S Uga- o fow
aroy g3l §1 29 |9 B! Il WRrd! & PRUI GERI a9 T IS TR Had 35
fop 1t =l 81 9 fRufa & 33 3141 91 & ol &t & . g

Options :

4058597975. 55 {5 1.

4058597976. 65 (5. 1.

4058597977. 75 a5 4.

4058597978. 80 fds HI.

Question Number : 113 Question Id : 4058592385 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the following sequence of numbers:

125, 126,124, 127,123, 129
Options:

4058597979. 126
4058597980. 124

4058597981. 123

4058597982. 129



Question Number : 113 Question Id : 4058592385 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
frferad st # 1erd U J1d Sife;
125, 126, 124, 127, 123, 120

Options :

4058597979. 126

4058597980. 124

4058597981. 123

4058597982. 129

Question Number : 114 Question Id : 4058592386 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following number series:

125,80.45,20, 2
Options:
4058597983. 5

4058597984. 10

4058597985. 15



4058597986. 16

Question Number : 114 Question Id : 4058592386 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

FrrferiRad S e § g U Jid SIfoi:

125,80,45.20, 2
Options :

4058597983. 5

4058597984. 10

4058597985. 15

4058597986. 16

Question Number : 115 Question Id : 4058592387 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following alphabet series:

ACD. CEE -EGD. GIE, 7

Options :

4058597987. IKF

4058597988. IFK

4058597989. IKD



4058597990. KID

Question Number : 115 Question Id : 4058592387 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
fFfREa uimTer e § g g 1d Sifee:
ACD, CEE,EGD,GIE, ?

Options:

4058597987. IKF
4058597988. IFK
4058597989. IKD

4058597990. KID

Question Number : 116 Question Id : 4058592388 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following alpha-numeric series:

SE oG HEIBL, T
Options :

4058597991, 23Q

4058597992, 5P



4058597993, 27Q

4058597994. 27P

Question Number : 116 Question Id : 4058592388 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Frfafad sieri® gaar & q« g 91d Do

3F.6G, 111 18L, 2

Options:

4058597991, 25Q

4058597992. 5P

| R}

4058597993, 27Q

4058597994. 27P

Question Number : 117 Question Id : 4058592389 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If in a certain language. POPULAR 1s coded as QPQVMBS. which word would be
coded as GBNPVT?

Options :

4058597995. FARMER

4058597996. FAMOUS



4058597997. FARMES

4058597998. FAMOTH

Question Number : 117 Question Id : 4058592389 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U [A%d W1 § POPULAR &1 QPQVMBS & ¥U § Heas g1 T 5
GBNPVT & 30 H fh ¥l Xeq &l Pedg [dar 71 g

Options:

4058597995. FARMER

4058597996. FAMOUS

4058597997. FARMES

4058597998. FAMOTH

Question Number : 118 Question Id : 4058592390 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If in a code language. PARENT is written as BDFGJK and CHILDREN is written
as MOXQUFG]J. how 1s REPRINT written in that code?

Options:

4058597999. FGBFXIK

4058598000. FGBUXIK



4058598001. FGBFXGD

4058598002. BGBFXIK

Question Number : 118 Question Id : 4058592390 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

gf¢; férdt e ST H PARENT @I BDFGIK & ¥4 H foral a1 § SR
CHILDREN &I MOXQUFGJ & %9 ¥ [¢Ra1 711 8. Al 39 H¢ UTS § REPRINT
&l fhg YR ferar s

Options :

4058597999. FGBFXJTK
4058598000. FGBUXIK
4058598001. FGBFXGD

4058598002. BGBFXIK

Question Number : 119 Question Id : 4058592391 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select one alternative in which the third statement 1s implied by the first two
statements.

Options :

4058598003, All dogs are mad. All sick persons are mad. So, all sick persons are dogs.

4058598004, All oranges are black. All figs are oranges. So. all figs are black.



4058598005, All windows are dogs. Some doors are dogs. So. all windows are doors.

4058598006, No man can fly. No kite can fly. So. all men are kites.

Question Number : 119 Question Id : 4058592391 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

3T famed &1 90 SIfoT o dHERT U= UYH 3 SY-1 & gRT SUdiad o:

Options :

4058598003, TN T IFTA € | TR I I1TE 81 31 IR I P €1

4058598004. Hﬁ%ﬂ%ﬁ?—lﬁ%l mwcﬂﬂ?{%l 37d: IR WW%I

4058598005, TN FESIHUT $1 €1 S XAl Pl & | 3ic: WRI RIsihai aam B

4058598006, P12 HI IS -Tol Il &1 PIg U1 IS ol Jobdl &1 3fcf: R HH U ¢ |

Question Number : 120 Question Id : 4058592392 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Given below is a statement. followed by two arguments numbered, I and II. You
have to decide which of the arguments 1s/are a 'strong’ argument.

Statement : Does India need so many plans for development?
Arguments : I. Yes. Nothing can be achieved without proper planning.

I1. No. Too much time, money and energy is wasted on planning.



Options :

4058598007, 1f only argument I is strong.

4058598008, If only argument II is strong.

4058598009, If either I or IT 1s strong.

4058598010. If neither I nor IT 1s strong.

Question Number : 120 Question Id : 4058592392 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

1o pyE Rm T B 1 39 YR WSl dd 19 11 ST U 81 Y R faaR
DT GUT GRIYT DI e SIH-1 T THTaRITe 57

HY: FT HRA B [GHT P [T 9gd IR TSI B AT 87
do: 1. Bl fe Ifd e &, oo i g1l 781 foar & gl
11. et FaieH W 9gd e 99g, I quT ol gaie gidl 3

Options :
4058598007, DA a1 HHTARITT & |
4058598008, Bad dd 1T HHIGLTE |

4058598009, I SUaT 11, Tl TdH GHGLTT 3

4058598010, 1A & II. THIGRITCl B



Question Number : 121 Question Id : 4058592393 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

X was born on march 6, 1993. The same year Independence Day was celebrated on
Friday. On which day was X born?

Options :

4058598011, Wednesday
4058598012, Thursday
4058598013, Friday

4058598014, Saturday

Question Number : 121 Question Id : 4058592393 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

X 1 & 6 HTH 1003 BI g1 I a9 WeiAd! 404 AR I 11 T/T1 X
®l o4 fod fgTgemur

Options :

4058598011, SHAR

4058598012, ¥€¥ daR

4058598013, YPIR

4058598014, XMAR



Question Number : 122 Question Id : 4058592394 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In question below 1s given a statement followed by two courses of action
numbered I and II. You have to assume everything in the statement to be true and
on the basis of the information given in the statement. decide which of the
suggested courses of action logically follow(s) for pursuing.

Statement : A large number of people in ward 'X' of the city are diagnosed to be
suffering from a fatal malaria type disease.

Course of action :

I. The city municipal authority should take immediate steps to carry out
extensive fumigation in ward 'X'.
I1. The people in the area should be advised to take steps to avoid mosquito bite.

Options :

4058598015, 1f only I follows.

4058598016, 1f only II follows.

4058598017. If either I or IT follows.

4058598018. If both I and II follows.

Question Number : 122 Question Id : 4058592394 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



= fRu o uw °. ue SuA foun T 81 9% YR W gl Srdasdi 191 gl
TS 1 UG HYF Bl I HHAT & dUT HUF H 31 715 TSGR & YR R Tl
S § [ 1 7S priaRal 8 § SH-918 dfd® $9 ¥ SFHUEH gq 3Md o7

Eg@?%a@xﬁaﬁmaﬁaﬁaﬁ@wﬁﬁm%wwﬁ
|

BRIATG!: 1 Wex DI FFRTT HTURE ®1 a1 X § THR TR IR gHie=ul
FRAM & (U PR SR HaH 36 dligy|

11 &3 & AN & A9 & @ 9 99 & 00 ofosl BeH 3ol ol- &I fegrad ot
ST 91U

Options :

4058598015, ATl 1 T SFIATCH BIAT T |

4058598016, AT 11 BT SFITTH BT €|

4058598017, 1 14T I BT SFTTEH BIAT &

4058598018, 1 YT IL, TIFT &1 SIUTA BT B |

Question Number : 123 Question Id : 4058592395 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a row of 23 boys, when Rohan was shifted by five places towards the right. he
became sixteenth from the left end. What was his earlier position from the right
end of the row ?

Options :

4058598019, o

4058598020, 111



4058598021, 128

4058598022, 13

Question Number : 123 Question Id : 4058592395 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

23 TS®] @I U Uied H, 9a e &I I 3R Ui RF 9™ §dl ¢ df 98
T BRY 160 WH R 8. 91 150 & < SR A IUDT - Ugd 91 U

Options :

4058598019, 941

4058598020. 11d]

4058598021, 12dI

4058598022, 13dI

Question Number : 124 Question Id : 4058592396 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

IfA=2
M=26
Z=52

Then BET =7
Options :

4058598023. 44



I
=y

4058598024. 5

4058598025. 64

4058598026. 71

Question Number : 124 Question Id : 4058592396 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

gidA=2

M=26

dl BET =7
Options :

4058598023. 44
4058598024. 54

4058598025. 64

4058598026. 72

Question Number : 125 Question Id : 4058592397 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Answer the question referring to the symbol — letter — number sequence given
below :

2P @8SLB1VHQ66GTIIKCD3© MESFRTAYA
P@L iz to Y75 in the same way as $1#is to :
Options :

4058598027. R£3

4058598028. F£3

i M
i+
]

4058598029.

4058598030. F#3

Question Number : 125 Question Id : 4058592397 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

- 4T 7 Uciieh-aul- 3id S hH & day ¥ 3R difoft:

2PJ@8SLB1VH#Q6EGTIIKCDIE MESFRTAYL

PALIAFE Y75 & | U e $14 T &
Options:

4058598027. R£3

4058598028. F£3

i M
For
]

4058598029.

4058598030. F#3



General Knowledge And Current Affairs

Section Id : 405859130
Section Number : 5

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25

Section Marks : 25

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 405859171
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 126 Question Id : 4058592398 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Arvind Panagariya has been appointed the chairperson of the :
Options :

4058598031. 15™ Finance Commission

4058598032. 16™ Finance Commission

4058598033. 17™ Finance Commission

4058598034. 18™ Finance Commission



Question Number : 126 Question Id : 4058592398 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
SRIde g &1 - 1 9 farsyes sfenef g fovan mam &7

Options:

4058598031, 1541 fad M@

4058598032, 16d1 [ad AN

4058598033, 1741 [ad ST

4058598034, 1841 [ad ST

Question Number : 127 Question Id : 4058592399 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Sudarshan Pattnaik 1s acclaimed as :
Options:
4058598035. A musician from Odisha

4058598036, A Bharatnatyam dancer

4058598037. A drama artist

4058598038. A sand artist



Question Number : 127 Question Id

: 4058592399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

geeH veTs fPu v § ufig 82

Options :

4058598035, HTST ¥ TP HIPR

4058598036, HITTCTH Td®

4058598037. lcH PR

4058598038, SIt P all®Ix

Question Number : 128 Question Id

: 4058592400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who i1s the present Governor of Reserve Bank of India ?

Options:

4058598039. Shaktikanta Das

4058598040, Raghuram Rajan

4058598041, Ashok Gulati

4058598042. T. V. Somanathan

Question Number : 128 Question Id

: 4058592400 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
YR ford §% & aad™ Ta-R i o7

Options :

4058598039, Yfaddid Iy

4058598040, YIITH RIS

4058598041, ° { e <

4058598042. ¢l. dl. THATYH

Question Number : 129 Question Id : 4058592401 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following National Parks 1s correctly matched with the State it 18
located in 7

Options :

4058598043, Chandoli National Park. Gujarat

4058598044, Khirganga National Park - Uttar Pradesh

4058598045. Anshi National Park - Tamil Nadu

4058598046. Betla National Park - Tharkhand

Question Number : 129 Question Id : 4058592401 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ﬁﬁrig@r%w@udamﬁ 3 3o & 1Y Fel i foban man § fored o
fuds?

Options :

x -
4058598043, TGS BT T - ORI

GRA AP U1 - FTR UG

4058598044.

4058598045, 11 BT T - AHETg

Sdl AP U - FRES

4058598046.

Question Number : 130 Question Id : 4058592402 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following States 1s/are wrongly matched with its/their Capitals:

A. Meghalaya - Shilong
B. Nagaland - Kohima
C. Andhra Pradesh - Hyderabad
D. Arunachal Pradesh - Agartala
E. Mizoram - Aizwal
Choose the correct answer from the options given below:

Options:

4058598047, A B and E only

4058598048, B and C only



4058598049, A. D and E only

4058598050, C and D only

Question Number : 130 Question Id : 4058592402 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

?ﬂﬁ@%ﬂ@ﬁ@lﬁ?ﬂﬁﬁﬁﬂﬁﬂfﬁtﬁ%ﬂﬁﬂﬁ@@ﬁ%ﬂm
A. T - fRrei
B. ANAS - HifgHl
C. TS W - BRIEIE
D. 33UT=E Ue - 3Rl
E. fOSIRY - g9

o f4u U fad el § U Uol f[ddhed &1 999 B

Options :

4058598047, PAT A, BIUTE

4058598048, dd B TUT C

4058598049, OT A, D TUTE

4058598050, ad C AUTD

Question Number : 131 Question Id : 4058592403 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Which Act gave the government enormous power to repress political activities and
allowed detention of political prisoners without trial for two years?

Options :

4058598051, Pitts India Act. 1784
4058598052, Indian Council Act, 1861
4058598053, Government of India Act, 1919

4058598054. Rowlatt Act

Question Number : 131 Question Id : 4058592403 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

iR d § 9 fohg SifUf-aw § ReR &1 Ae-ifdd Tafdid] &1 i & 6i
HIR fed ST 9IH a1 IeHIae af-adl (dhiedn o &1 fodt fdarRu & 81 2
ay o o [T o o1 Iued farar /a1 um

Options :

4058598051 10T S1SAT AT, 1784

4058598052, SIS0 DI UF, 1861

4058598053, TTa-H¢C 3HF <01 Tae, 1919

4058598054, Y e dqc

Question Number : 132 Question Id : 4058592404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book 'Stri Purush Tulna'- a comparison between women
and Men?

Options:

4058598055. Pandita Ramabai

4058598056, Begum Rokeya Sekhawat

4058598057. Madhu Kishwar

4058598058. Tarabai Shinde

Question Number : 132 Question Id : 4058592404 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Higaaf 3R G2 & He qaIeTe [qavul § Hed qde- il T2 qorl B
R B 8

Options:

4058598055, 1 SAI M é

-,

4058598056. §TTH a4l TG

4058508057, I fHRaR

4058598058. Elalé RIS

Question Number : 133 Question Id : 4058592405 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Statement A : The Kandariya Mahadeva Temple dedicated to Shiva was
constructed in 999 by the King Dhangadeva of the Chandela dynasty.

Statement B : This was the place for ritual worship where only the king. his
immediate family and priests gathered.

Choose the correct answer from the options given below:
Options :

4058598059. Both statements A and B are correct.

4058598060. Both statements A and B are incorrect.

4058598061, Statement A is correct: B is incorrect.

4058598062, Statement B 1s correct: A is incorrect.

Question Number : 133 Question Id : 4058592405 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HY A - 319 &1 JHitq S gered AR &1 A 94d 99 & I 4
&R1099 H HdrT 741 |

®Y B : U8 R Afdyde go & foiu o1 Siel drad Iel, 39 e Jath ayn
Joikl &1 ThA 8id U1

4 fqu Tw fomedl & 9 9ol fdded &1 9g- SIfo:

Options :

4058598059, Gl YU A JUTB TEI &

4058598060, &Il YU A TUI B 7TAd ¢ |



4058598061, PUTA TR 6. BTG 6!

4058598062, PUTB Tel 5. ATCA 6

Question Number : 134 Question Id : 4058592406 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are wrongly matched with reference to France?

A. Livre - Unit of currency in France discontinued in 1794,

B. Tithe - Tax to be paid directly to the State.

C. Clergy - Group of persons invested with special functions in the Church.

D. Taille - A tax levied by the Church. comprising one tenth of the agricultural
produce.

Choose the correct answer from the options given below:

Options :
4058598063, A. B and C

4058598064. B and D

4058598065. B and C

4058598066, Only C

Question Number : 134 Question Id : 4058592406 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



vt 1 9 o i & Gt & AR =

A. feaR - i & gg1 &1 U obTg o 1704 T I & (637 77|
B. fe¥ - 3ol ol ywa =9 9 f3a1 9 are a3

C. &Sl - 79 H G Sl § & aAfdad] o 998

D. ¢ - T4 gR1 Q1 O aTdl 3, Sl 1Y Id1a Bl axadl Y sl

414 feu fam gl O T ggl fddbed &1 994 SIS

Options :

4058598063, A. B ddIC

4058598064. B d4I D

4058598065. B AUl C

4058598066, Pdd C

Question Number : 135 Question Id : 4058592407 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following describes the drainage pattern resembling the dome
like structure?

Options :
4058598067. Dendritic

4058598068. Radial

4058598069. Trellis

4058598070, Rectangular



Question Number : 135 Question Id : 4058592407 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ffoRad o 9 a1 e 929 ST 4 9 - aTd $Yaig Uiy &1 auH
GG
Options :

4058598067. 1 id

4058598068, T

4058598069. % Elé[

4058598070, HIHdIRR

Question Number : 136 Question Id : 4058592408 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A narrow zone of the Earth where land, water and air interact with each other to
support life g called:

Options :
4058598071, Atmosphere
4058598072, Biosphere

4058598073, Hydrosphere

4058598074, Lithosphere



Question Number : 136 Question Id : 4058592408 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ged| &1 Up SHIU] &7 Sial UfH. O IR aTg oila & Uyul g U Ga I Sk
fopdT B §, Poard o

Options :

4058598071, AEHUSC

4058598072. SIIGHUST

4058598073. WCIHUST

4058598074, cTHUS

Question Number : 137 Question Id : 4058592409 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the atmosphere layers 15 most ideal for flying acroplanes?
Options :

4058598075, Troposphere

4058598076, Stratosphere

4058598077, Mesosphere

4058598078, Exophere



Question Number : 137 Question Id : 4058592409 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
argaH & 35494 oq Se¥l dgHSHIY URd HEifdd 4 9 &1 9l 82

Options:

4058598075, HIHHSH

4058598076, JHAUH S

4058598077. HHIH &

e .
4058598078, SleHo (€lelH50)

Question Number : 138 Question Id : 4058592410 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following 1s not used to reduce friction?
Options:

4058598079, Grease or oil in a machine part

4058598080. Powder on carrom board

4058598081, Ball bearings in motors

4058598082, Sole of the shoe or tyres of the vehicle



Question Number : 138 Question Id : 4058592410 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Y] HH B & oy Heifea § 9 1 Ugad 981 oidl o

Options:

4058508079, (P41 ARIH & Iui 7 g a1 dd

4058598080. PIHEIS T JT3 S

4058598081, HIEI H @ld &l

4058598082, SI<I T I TT TG P TR

Question Number : 139 Question Id : 4058592411 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct statements:

A. A liquid exerts pressure on the walls of the container.

B. Pressure exerted by water at the bottom of the container depends on the
height of its column.

C. Liquid exerts equal pressure at the same depth.

Choose the correct answer from the options given below:
Options :

4058598083. A and B

4058598084. A and C



4058598085. B and C

4058598086, A. B and C

Question Number : 139 Question Id : 4058592411 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

el BUA/HYA] Bl UgdH BT

A. T YR ! R R 3§ Sradi g

B. YR @1 Yol H old gRI 34 319 S0P WH (PBIaH) B Hai IR 1R
HRAT

C. §d A TTeds § 99 219 STl o

-9 feu T fased! d ¥ 981 S| gHT:

Options:

4058598083. A 3¥ B

4058598084, A 3% C

4058598085, B 3% C

4058598086, A. B 3R C

Question Number : 140 Question Id : 4058592412 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

I[dentify the Electrical Insulator from the following:

Options :



4058598087. Nickel

4058598088, Manganese
4058598089. Nichrome

4058598090. Ebonite

Question Number : 140 Question Id : 4058592412 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Ritifera & @ figgedid g

Options :

4058598087 [

4058598088. TS

4058598089. Eaé L

4058598090. [{al e

Question Number : 141 Question Id : 4058592413 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following 1s NOT a characteristic feature of computer device?

Options :



4058598091, Reliability

4058598092, Versatility

4058598093, Diligence

4058598094. Emotion

Question Number : 141 Question Id : 4058592413 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fr=ifard & O o1 Hex IUDRUI DI e ARV 98] 62

Options :

4058598091, TAZaT=TTdl

4058598092, HTUddl

4058598093. #H

4058598094. HIG-T

Question Number : 142 Question Id : 4058592414 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following 18 NOT a computer hardware?
Options :

4058598095. Mouse



4058598096, Joystick

4058598097. MS-Paint

4058598098, Microphone

Question Number : 142 Question Id : 4058592414 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
[r=ifard | O 91 HUER SO duR Hal o7

Options :

4058598095. HI\3{

4058598096, SIITRCH

4058598097, TH.UF Ue

4058598098. H Eﬁ ]

Question Number : 143 Question Id : 4058592415 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following i1s NOT a Fundamental Right under the Constitution of
India?

Options :

4058598099, Right to Constitutional Remedies



4058598100, Right to Vote

4058598101, Cultural and Educational Rights

4058598102, Right against exploitation

Question Number : 143 Question Id : 4058592415 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
fFr=Tfaied & 9 o1 YRd & IfauH & Siavid 9d SHUeR T8 82

Options :

4058598099, HAUTH® TUAR &1 HUHR

4058598100, Hda &I fUBR

4058598101, JEPIA® 3R e SfTHR

4058598102, SITHUI & (455 JHUFR

Question Number : 144 Question Id : 4058592416 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who among the following coined the phrase "Umty in diversity” to describe India?
Options:

4058598103. Mahatma Gandhi



4058598104, Rabindranath Tagore

4058598105, Dayanand Saraswati

4058598106. Jawaharlal Nehru

Question Number : 144 Question Id : 4058592416 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fA=fefaa § 9 forgs WRd &1 avfa & & fore fafayar & uaar arsai
GE It b
Options :

4058598103, HETET el

4058598104, TAI51Y STIR

4058598105, GO~ T3]

4058598106, SAIGRAId 185

Question Number : 145 Question Id : 4058592417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Consider the following statements about the Rajya Sabha:

A. Rajya Sabha controls the excutive by asking questions, supplementary
questions, resolutions and motions and through no confidence motion.

B. Rajya Sabha can give the Union Parliament power to make laws on matters
included in the State list.

Choose the correct answer from the options given below:
Options :

4058598107. A 1s true and B 1z false.
4058598108. Both A and B are true.
4058598109. A is false and B 1s true.

4058598110. Both A and B are false.

Question Number : 145 Question Id : 4058592417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

g YT & IR H HEfafad U & IR H [daR i

A, I JYT YA, b YR ISR, Yobedl SR Ul iR Hfdxary yaral
%mm%w%%ﬁﬁﬁﬁawﬁ%

B. I JHT &g TRHR B! I el H FHATed f[awal IR S §7H Bt
Iferd WeT B gl o

fefead fdm el 9 9el SR gHT:

Options:

4058598107, A ¥g! & 3R B 7T&d &

4058598108, A 3R B < Tal §

4058598109, AT & 3R B Tl G



4058598110, A MR B Tad g |

Question Number : 146 Question Id : 4058592418 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Under which of the following writs the Court orders a Lower Court or another
authority to transfer a matter pending before 1t to the higher authority are Court?

Options :

4058598111. Mandamus

4058598112. Prohibition

4058598113, Quo Warranto

4058598114, Certiorari

Question Number : 146 Question Id : 4058592418 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fr=faRad wewi (Re) 5 9 foges siaria e foesdt e ererad a1 3
BRI Bl SUD JHY Tiad [d90 D1 FHUR & AUHR] AT HTed &l gxiidid
B BT MY Sl 82

Options:

4058598111. U¥H ax

4058598112, HY 3G



4058598113, ° PR =1

4058598114, 3HHUT e

Question Number : 147 Question Id : 4058592419 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Wholesale Price Index number indicates which of the following?
Options :

4058598115, Change in cost of living.
4058598116, Change in general price level.
4058598117, Change in stock market.

4058598118, Change in quantities of manufactured items.

Question Number : 147 Question Id : 4058592419 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Ui faeh] DA Jadid HERGd § 3 iy FHafid srare?

Options :

4058598115, SIaH [-alg &1 @Td & diRdd—

4058598116, T 4o &R H RRad



4058598117, 1P a9} H gRkgd—

405850811, [QFITHd a¥G3HT BT AETSH H URad

Question Number : 148 Question Id : 4058592420 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements about non-random sampling method:

A. All the units of the population have an equal chance of being selected.
B. Convenience on judgement of the investigator does not play an important
role in selection of the sample.

Choose the correct answer from the options given below:
Options :

4058598119, A is true. B 1s false.

4058598120. Both A and B are true.

4058598121, A is false. B is true.

4058598122. Both A and B are false.

Question Number : 148 Question Id : 4058592420 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4058598119, AUT §. B AT

4058598120. A 3R B &I 9 B

4058598121, A U §. B U ¢

4058598122, A 3R B &1 3EA ¢

Question Number : 149 Question Id : 4058592421 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Second Five Year Plan of India, a landmark contribution to development
planning. was based on the ideas of which of the following thinkers?

Options:

4058598123, Dadabhai Naoroji

4058598124. VK.R.V. Rao
4058598125. R. C. Desai

4058598126. P.C. Mahalanobis



Question Number : 149 Question Id : 4058592421 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

HRd D! gd1d GIasig Tiol &1 9EFd: [AsEes gioHl 8§ Uh
fqrgayul »F B | U8 FHfeRed f[dare! T 9 foad faar 1R serid 9m

Options :

4058598123, &la YTg ARG

4058598124, Gl.&.3{R.al. I[d

4058598125, SR, U1, SHI3

4058598126, Ul HI. TETEI-H

Question Number : 150 Question Id : 4058592422 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which one among the following statements correctly explains "Capital Goods
Industry"?

Options:

Industries which produce machine tools which are used for producing articles for
4058598127, current consumption.

4058598128, Industries which produce articles for direct current consumption.

4058598129, Industries which produce machine tools which are used in the agricultural sector.

4058598130, Industries which produce articles only for export.



Question Number : 150 Question Id : 4058592422 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Frefafad sy § I oH-31 Hy USig Sel @1 el auid HRdar 82

Options :

SN, S TATIHRUT BT SATEA B 3. [SFBT I ITHNT 8 I SATEA
4058598127, P 7T AT faa e &

4058598128, SGFT. Sl AIDICTE TeHT JUHIT &g TXISHI BT IATG PR 5 |

4058598120, ST, Sl Z-AIUDRUT BT JTE HRd & [oT-1p] YT PV & H 61 Wi g |

4058598130, ST, ST Ha faid & g a&gsil o1 S@re" #d €|



